

STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

В	il	ı	7	ò	

PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984 Ship To:

PORT ST. LUCIE POLICE DEPT

ATTN: LISA SMITH

121 SW PORT ST LUCIE BLVD

BUILDING C

PORT ST LUCIE, FL 34984

Reference	2022 PI UTILITY PATROL	X 18		*	
Product		Description			
**PRICE QUOTE PER BSO CONTRACT # 18006AG **THIS PRICE QUOTE IS FOR (18) 2021 FORD PI UTILITY MARKED PATROL WITH NEW WHELEN CORE SYSTEM **THIS PRICE QUOTE DOES NOT INCLUDE VEIHICLE PICK UP OR DELIVERY CHARGES, PICK UP AND DELIVERY WILL BE RESPONSIBILITY OF PORT ST LUCIE PD **PRICE QUOTE IS GOOD FOR 60 DAYS **THIS QUOTE WAS MODIFIED ON 2/14/22, QUANTITY CHANGED TO (18) AND DATE UPTED					
183-0008		nal with manual reset, surface mount	18	48.75	877.50
EB2-STT-RB	55" WECAN X DUO LEGACY PASS SIDE RED WITH OVER BLUE 1/2 RED WITH OVERF PODS IN THE REAR ARE TR	D&R LIST \$ 65.00 EACH 55" WECAN X DUO LEGACY BAR. FRONT DRIVER SIDE IS BLUE PASS SIDE RED WITH OVERRIDE TO WHITE SCENE. REAR IS 1/2 BLUE 1/2 RED WITH OVERRIDE TO AMBER ARROW. 2 CUSTOM PODS IN THE REAR ARE TRIO RED FOR STOP LIGHT			48,564.00
STPKT*					0.00
C399	CONCOM CORE AMPLIFIER CCTL7 TOUCHPAD AND CO SIREN)	CONCOM CORE AMPLIFIER CONTROL MODULE (CAN ORDER CCTL7 TOUCHPAD AND CCTLMIC MICROPHONE FOR COMPLETE SIREN)			0.00
CCTL6	WeCanX KNOB/SLIDE CON				0.00
C399K4		TALLATION KIT FOR C399, 2020 OUT OPTION 61B	18	0.00	0.00
CV2V	WECAN X VEHICLE-TO-VEH INCLUDED IN PACKAGE	HICLE SYNCH MODULE	18	0.00	0.00
_			Sales Tax (7.0	0%)	\$0.00
Phone #	Fax #	E-mail	W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR0	DBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY PATROL	X 18				
Product		Description		Qty	Cust. Price	Total
SA315P	SA315P SPEAKER, BLACK I	PLASTIC		18	0.00	0.00
14	INCLUDED IN PACKAGE					
SAK66P		NTERCEPTOR UTILITY PASSEN	GER	18	0.00	0.00
	SIDE GRILLE					
CHWLFE29	INCLUDED IN PACKAGE	REN SYSTEM THIS IS A COMPLE	TE	18	0.00	0.00
0114461 628		KER AND CUSTOM BRACKET TO		10	0.00	0.00
	POLICE INTERCEPTOR UTI		2021			
	INCLUDED IN PACKAGE		i			
5344-T-6SRU		S-R-US REVISION PUSH BUMPI		18	412.35	7,422.30
		TERCEPTOR UTILITY. INCLUDE				
		ID ANGLED SIDE BRACKETS TO				
	WRINKLE FINISH BLACK ST	LSO INCLUDES PAIR OF WIRE C	OVERS.			
	GO RHINO LIST \$ 528.66 EA					
COMMANDERELITE6-3R		ELITE WARNING AND DIRECTION	NAL	18	374.00	6,732.00
3B	PODS THAT GO ALL WHITE	FOR SCENE 3 RED 3 BLUE POD	s			
	SIGNAL VEICLE LIST \$ 680.					
SRUS12D-RB-W		light head, black base (12~24VDC	(2)	36	89.65	3,227.40
	RED/BLUE WITH WITE OVE					
VTX609C	SIGNAL VEHICLE LIST \$ 163 VERTEX SUPER-LED LIGHT			36	65.45	2,356.20
V 17009C	WHELEN LIST \$ 119.00 EAC			30	05.45	2,350.20
RPWS50-RB		REAR PILLAR MOUNT For Ford Po	olice	18	609.40	10,969.20
		x SOLO OEION Lightheads SET U			000.40	10,505.20
	PER DRAWING (BLUE DRIV	/ER / RED PASSENGER)				
	WHEEN LIST \$ 1108.00 EAC					
CEM16	WCX 16 OUTPUT EXPANSION	ON MODULE		18	133.65	2,405.70
	WECAN X	N. 1		t.		
HERO-W	WHELEN LIST \$ 243.00 EAC	,n NDICATOR LEDS/ R,B,A,W Warnir	a LEDS	36	96.25	3,465.00
HERO-W	(*Must use vehicle adaptor be		ig LEDS	30	90.25	3,465.00
	HELLA LIST \$ 175.00 EACH	szorioi propor instanduori,				
			1		I	
			Sales	Tax (7.0	0%)	\$0.00
						·- <u>-</u>
Phone #	Fax #	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	W	WW.STRO	DBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

Bill To:		
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	¥0	

Reference	2022 PI UTILITY PATROL	X 18			
Product		Description	Qty	Cust. Price	Total
HERO-ADAPTER2	HIDEAWAY LED ADAPTER F REVERSE BULB HELLA LIST \$ 19.00 EACH	OR: 2020 INTERCEPTOR UTILITY R	EAR 36	10.45	376.20
SRU-RUNNER-60-RB	The state of the s		S 6 36	346.50	12,474.00
C-VS-1012-INUT	2020 AND NEWER Ford Intel 20" Console	2020 AND NEWER Ford Interceptor Utility *ANGLED *Vehicle Specific 20" Console HAVIS LIST \$ 523.24 EACH			6,121.98
C-EB40-CCS-1P	HAVIS FACE PLATE FOR WI		18	0.00	0.00
C-EB25-XTL-1P	MOTOROLA FACE PLATE FO APX-6500 INCLUDED WITH CONSOLE	OR RO (TWO WAY RADIO) MODELS	18	0.00	0.00
•	HAVIS FILLER PLATES TO E	NCLOSE CONSOLE	18	0.00	0.00
C-PM-124	2020+ FORD INTERCEPTOR SUV **2020+ MODEL** BROTHER POCKETJET INSERT FOR CONSOLE USES 6" OF CONSOLE SPACE HAVIS LIST \$ 224.54 EACH			145.95	2,627.10
CUP2-1001	4" Self-Adjusting Double Cup Ocupies 4" of equip bracket s HAVIS LIST \$ 65.09 EACH		18	42.31	761.58
C-ARM-103	Armrest for top mount, consol HAVIS LIST \$ 158.28 EACH	e, large pad	18	102.88	1,851.84
MMSU-1	MAGNETIC MIC SINGLE UN NON CONTRACT ITEM	IT COMPLETE.	36	29.75	1,071.00
C-HDM-214	8.5" Heavy Duty Telescoping HAVIS LIST \$ 135.14 EACH	Pole, side mount	18	87.84	1,581.12
C-MD-112	Titt/swivel slide motion adapte HAVIS LIST \$ 349.07 EACH	er I	18	226.90	4,084.20
			Sales Tax (7.0	00%)	\$0.00
			6		
Phone #	Fax #	E-mail	W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.C	MO



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY PATROL	X 18			
Product		Description	Qty	Cust. Price	Total
DS-DELL-425	Docking Station wih Basic Port Replication for Dell Latitude Rugged Notebooks 5430, 7330, 5420, 5424 & 7424 HAVIS LIST \$ 747.54			485.90	8,746.20
LPS-137	for use with DS-DELL-100,11	errite bead for in-vehicle EMI suppr 0 Series, DS-DELL-200,210,220,2: DS-DELL-400 Series, and DS-GD	30 '	153.21	2,757.78
LPS-211	MULTPURPOSE BRACKET	MULTPURPOSE BRACKET FOR MOUNTING POWER SUPPLY ON HAVIS DOCKING STATION/CRADLE			458.10
P1000UINT20AOSB	includes: ½ Partition, Transpo Lower Extension Panel(s), Po	2020+FORD PI UTILITY Single Compartment, Pro-cell, Transport system includes: ½ Partition, Transport Seat, Floor Pan, Pair Window Bars, Lower Extension Panel(s), Poly Center Divider, Door Panel Cover Plates, Poly Window Cargo Barrier, & Optional Outboard Seat Belts			
1080E	BLAC RAC GUN LOCK 1080 BOSS LIST \$ 525.95 EACH	E	18	497.65	8,957.70
25018	BLAC-RAC VERTICAL ADJU BOSS LIST \$ 48.00 EACH	STABLE CHANNEL TO MOUNT 1	080E 18	43.20	777.60
16518177	STANDARD STROBES-R-US MAIN VEHICLE WIRING HARNESS USED WITH BUMPER LIGHTING HARNESS 16518178 AND SPEAKER HARNESS 16518180 NON CONTRACT ITEM			115.82	2,084.76
16518178	BUMPER LIGHTS. USED WI	STANDARD STROBES-R-US ADDON HARNESS TO WIRE PUSH BUMPER LIGHTS. USED WITH MAIN HARNESS 16518177 AND SPEAKER HARNESS 16518180			316.08
16518180	STANDARD STROBES-R-US	STANDARD STROBES-R-US ADDON HARNESS TO WIRE 2 SPEAKERS. USED WITH MAIN HARNESS 16518177 AND BUMPER HARNESS 16518178			351.36
INSTALL	CUSTOM INSTALLATION PE	R HOUR	702 	55.00	38,610.00
			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail	 	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.C	MO



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY PATROL X 18				
Product	Description Qty Cust. Price				
	ACTIVATE OEM HEADLIGH 1 X BREAKER (183-0008) CORE SYSTEM PROGRAMI 1 X 55° CUSTOM DUO LEGA FRONT IS 1/2 BLUE 1/2 RED REAR IS 1/2 BLUE 1/2 RED CUSTOM PODS IN THE REA STRAP KIT (GB2-STT-RB, S 1 X CORE SYSTEM MODUL C399K4) 1 X CORE CONTROL HEAD 1 X CV2V VEH TO VEH SYN 1 X SPEAKER WITH SAK66I SKIRT PASS SIDE 1 X SINGLE CHOWLER (WE BRACKET BEHIND BUMPE 1 X GO-RHINO PUSH BUMP 5344-T-6SRU) 1 X COMMADERELITE 6-PO IN UPPER LIGHT CHANEL O 2 X SRUS12D-RBW MOUNT WARNING AND WHITE OVE 2 X VTX609C HIDEAWAY LE OUTS 2 X HERO-W IN OEM REAR 2 X SIDE RUNNING BOARD RED/BLUE/RED/BLUE/RED/ 1 X CEM16 EXPANSION MO	MING FOR: ACY BAR (BLUE DRIVER / RED) WITH OVERRIDE TO WHITE SO WITH OVERRIDE TO AMBER AR AR ARE TRIO RED FOR STOP LI TPKT) E WITH CHARGER ODB KIT (C3 (CCTL6) CH P BRACKET, MOUNT BEHIND BO ECAN X) LO-FREQUENCY SIRE R SKIRT PER W/ 6-POD LIGHT CHANNEL OD R/B/R/B/R/B WITH WHITE OVE OF PUSH BAR ON SIDE OF PUSH BUMPER WERRIDE EDS IN OEM FRONT HEADLIGHT REVERSE, WARING TO BE RED LIGHTS, BLUE ONE EACH SIDE	PASS) CENE. RROW. 2 GHT AND 1999, UMPER IN WITH (ERRIDE VIRE FOR T CUT D/BLUE		
			Sales Tax (7	.00%)	\$0.00
Phone #	Fax #	E-mail		Neb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	MANANAY STE	ROBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984

Ship	To
------	----

PORT ST. LUCIE POLICE DEPT ATTN: LISA SMITH 121 SW PORT ST LUCIE BLVD BUILDING C

PORT ST LUCIE, FL 34984

Reference	2022 PI UTILITY PATROL X 18				
Product		Description	Qty	Cust. Price	Total
NSTALL	USB OUTLET, INCLUDES 2 CUTOUTS 1 X C-PM-124 PRINTER MO IS BLUE TOOTH) 1 X DUAL CUP HOLDER (CL 1 X FACE PLATES FOR CAR APEX 6500 REMOTE HEAD CUSTOMER WILL INSTALL I CONSOLE 1 X SIDE MOUNT BASE AND 1 X SWING ARM C-MD-112 1 X DELL DOCKING STATIO DS-DELL-425 1 X POWER SUPPLY FOR D 1 X POWER SUPPLY MOUN 2 X MMSU-1 MAGNETIC MIC 1 X HALF CAGE SYSTEM W (P1000UINT20AOSB) WITH: ½ Partition, Transport Extension Panel(s), Poly Cen Window Cargo Barrier, & Out	RBIDE CONTROL (C-EB40-CCS-1F RADIO (C-EB25-XTL-1P) RADIO LEAVE EQUIPMENT BRAC POLE C-HDM-214 N (NO PASS THROUGH ANTENN PELL LPS-137 ITING BRACKET C (CUSTOMER WILLMOUNT) /ITH SEAT AND OUTBOARD SEAT Seat, Floor Pan, Pair Window Bars ater Divider, Door Panel Cover Plate board Seat Belts DN HALF CAGE (WITH BLAC RAC CS)	RE IN PRINTER P) AND CKET IN IA) TBELTS G, Lower ES, Poly	55.00	3,960.0
			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail		eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	I WWW.STR	OBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30318

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	

Ship To:	
PORT ST. LUCIE POLICE DEPT	
ATTN: LISA SMITH	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2	2022 PI UTILITY PATROL X 18					
Product		Description			Qty	Cust. Price	Total
	1 L 1	OCATION TBD) X MOUNT RADIO SPEAKE	UN FROM CONSOLE R IN HAVIS CONSOLE UN WIRES TO REAR HATCH (LC			0	
	Please	call in advance for an a	ppointment		Sub	total	\$225,338.40
Approved By:			Sales Tax (7.00%)		\$0.00		
PO #:) #:			To	otal	\$225,338.40	
Phone #		Fax #	E-mail		W	eb Site	
954-946-995	55	954-946-9677	SALES@SRUS.COM	W	ww.str	OBES-R-US	S.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/24/2021	30321

-		-
ж	IRI	ıo.
_	***	

PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984

Shi	D	To	

Reference	2022 PIU K9 X 1 NO ACE	K9 ELECT				
Product		Description	Qty		Cust. Price	Total
	**PRICE QUOTE PER BSO	CONTRACT # 18006AG				-
	**THIS PRICE QUOTE IS FO	R (1) 2022 FORD PI UTILITY K9	UNIT			
		SYSTEM (THIS QUOTE DOES N	от			
	INCLUDE THE ACEK9 ELEC	TRONICS) S NOT INCLUDE VEIHICLE PICK (ID OB		1	
		UP AND DELIVERY WILL BE			1	
	RESPONSIBILITY OF PORT				1	
	**PRICE QUOTE IS GOOD F	OR 60 DAYS			5	
	**					
183-0008	Circuit breaker, 50 amp therm D&R LIST \$ 65.00 EACH	nal with manual reset, surface mour	nt	1	48.75	48.75
EB2-STT-RB	•	BAR. FRONT DRIVER SIDE IS B	LUE	1	2,698.00	2,698.00
		RRIDE TO WHITE SCENE. REAR				
		RIDE TO AMBER ARROW. 2 CUST	OM			
	PODS IN THE REAR ARE TF WHELEN LIST \$ 4905.45 EA					
STPKT*	· ·	CH PACKAGE PKIT WITH BOLTS (MKAJ105 FOI	3 2022	1	0.00	0.00
	PI UTILITY)	TOT WITT BOLTS (IMIO B 105 T OI	12022	۱'	0.00	0.00
	INCLUDED IN PACKAGE					
C399		R CONTROL MODULE (CAN ORDE		1	0.00	0.00
		TLMIC MICROPHONE FOR COMI	PLETE			
	SIREN)					
CCTL6	INCLUDED IN PACKAGE WeCanX KNOB/SLIDE CON	TPOL HEAD		⊿	0.00	0.00
00120		ÆRSION – ALSO INCLUDES CCT	TLMIC	۱'	0.00	0.00
	MICROPHONE KIT					
	INCLUDED IN PACKAGE					
C399K4		TALLATION KIT FOR C399, 2020		1	0.00	0.00
	EXPLORER UTILITY WITHO	UT OPTION 61B		-		
CV2V	INCLUDED IN PACKAGE WECAN X VEHICLE-TO-VEH	HOLE SYNCH MODULE		1	0.00	0.00
0121	INCLUDED IN PACKAGE	TICLE STROP MODULE		- '1	0.00	0.00
SA315P	SA315P SPEAKER, BLACK	PLASTIC		1	0.00	0.00
	•		•	•	·	
			Sales Tax	(7.0	0%)	\$0.00
Phone #	Fax #	E-mail		We	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	λαλαλα/ Θ		BES-R-US.C	·OM
	1 00.000	S. 1220@51.100.00111	***************************************			



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
12/24/2021	30321	

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	
·	

Reference	2022 PIU K9 X 1 NO ACE	K9 ELECT			
Product		Description	Qty	Cust. Price	Total
SAK66P	INCLUDED IN PACKAGE 2020 SA-315 MT KIT FORD INTERCEPTOR UTILITY PASSENGER SIDE GRILLE			1 0.00	0.00
CHWLFE29	INCLUDED IN PACKAGE WCX LOW FREQUENCY SIREN SYSTEM THIS IS A COMPLETE HOWLER AMP WITH SPEAKER AND CUSTOM BRACKET TO FIT 2021 POLICE INTERCEPTOR UTILITY EXPLORER INCLUDED IN PACKAGE			1 0.00	0.00
5344-T-6SRU	INCLUDED IN PACKAGE GO RHINO BRAND STROBES-R-US REVISION PUSH BUMPER FOR 2020 AND NEWER FORD INTERCEPTOR UTILITY. INCLUDES 6 POD LIGHT CHANNEL AT TOP AND ANGLED SIDE BRACKETS TO HOLD 12D TYPE LIGHT HEADS. ALSO INCLUDES PAIR OF WIRE COVERS. WRINKLE FINISH BLACK STEEL MATERIAL GO RHINO LIST \$ 528.66 EACH			1 412.35	412.35
COMMANDERELITE6-3R 3B	DUO 6 POD COMMANDER E	DUO 6 POD COMMANDER ELITE WARNING AND DIRECTIONAL PODS THAT GO ALL WHITE FOR SCENE 3 RED 3 BLUE PODS			374.00
SRUS12D-RB-W	DUO 12 diode surface mount light head, black base (12~24VDC) RED/BLUE WITH WITE OVERRIDE 36" CABLE SIGNAL VEHICLE LIST \$ 163.00 EACH			2 89.65	179.30
VTX609C	VERTEX SUPER-LED LIGHT WHELEN LIST \$ 119.00 EAC	VERTEX SUPER-LED LIGHT WHITE			130.90
RPW\$50-RB	2020 Six Lamp, Two Piece, REAR PILLAR MOUNT For Ford Police Interceptor Utility Requires Six SOLO OEION Lightheads SET UP AS PER DRAWING (BLUE DRIVER / RED PASSENGER) WHEEN LIST \$ 1108.00 EACH			1 609.40	609.40
CEM16	WCX 16 OUTPUT EXPANSION WECAN X WHELEN LIST \$ 243.00 EAC	ON MODULE		1 133.65	133.65
HERO-W		NDICATOR LEDS/ R,B,A,W Warnii	ng LEDS	2 96.25	192.50
			Sales Tax (7.00%)	\$0.00
Phone #	Fax #	E-mail		Web Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	www.s	ROBES-R-US.	COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/24/2021	30321

Reference	2022 PIU K9 X 1 NO ACE	K9 ELECT			
Product		Description	Qty	Cust. Price	Total
HERO-ADAPTER2	HIDEAWAY LED ADAPTER FOR: 2020 INTERCEPTOR UTILITY REAR REVERSE BULB HELLA LIST \$ 19.00 EACH		REAR 2	10.45	20.9
SRU-RUNNER-60-RB	60" STRIP LIGHT WITH BUILD IN FLASHER. ALUMINUM CHASSIS 6 10 INCH SECTIONS R/B/R/B/R/B SHO-ME LIST \$ 495.00 EACH			346.50	693.00
C-VS-1012-INUT	2020 AND NEWER Ford Interceptor Utility *ANGLED *Vehicle Specific 20" Console HAVIS LIST \$ 523.24 EACH			340.11	340.1
C-EB40-CCS-1P	HAVIS FACE PLATE FOR W		1	0.00	0.0
C-EB25-XTL-1P	MOTOROLA FACE PLATE F APX-6500	OR RO (TWO WAY RADIO) MODELS	1	0.00	0.00
•	INCLUDED WITH CONSOLE HAVIS FILLER PLATES TO E INCLUDED WITH CONSOLE	ENCLOSE CONSOLE	1	0.00	0.00
C-PM-124	2020+ FORD INTERCEPTOR SUV **2020+ MODEL** BROTHER POCKETJET INSERT FOR CONSOLE USES 6" OF CONSOLE SPACE HAVIS LIST \$ 224.54 EACH			145.95	145.9
CUP2-1001	4" Self-Adjusting Double Cup Holder. Ocupies 4" of equip bracket space with a depth of 3" HAVIS LIST \$ 65.09 EACH		1	42.31	42.3
C-ARM-103	Armrest for top mount, conso HAVIS LIST \$ 158.28 EACH	le, large pad	1	102.88	102.8
MMSU-1	MAGNETIC MIC SINGLE UNIT COMPLETE. NON CONTRACT ITEM		2	29.75	59.5
C-HDM-214	8.5" Heavy Duty Telescoping HAVIS LIST \$ 135.14 EACH	Pole, side mount	1	87.84	87.8
C-MD-112	Titt/swivel slide motion adapte HAVIS LIST \$ 349.07 EACH	er	1	226.90	226.9
	5.		Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail	W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.C	ОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/24/2021	30321

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PIU K9 X 1 NO ACEK9 ELECT			
Product	Description	Qty	Cust. Price	Total
DS-DELL-425	Docking Station wih Basic Port Replication for Dell Latitude Rugged Notebooks 5430, 7330, 5420, 5424 & 7424 HAVIS LIST \$ 747.54	1	485.90	485.90
LPS-137	90 Watt Power Supply (with ferrite bead for in-vehicle EMI suppression) for use with DS-DELL-100,110 Series, DS-DELL-200,210,220,230 Series, DS-DELL-300 Series, DS-DELL-400 Series, and DS-GD-300 Series Docking Stations WHELEN LIST \$ 235.70 EACH		153.21	153.2 <i>°</i>
LPS-211	MULTPURPOSE BRACKET FOR MOUNTING POWER SUPPLY OF HAVIS DOCKING STATION/CRADLE HAIS LIST \$ 39.16 EACH	N 1	25.45	25.45
16518177	STANDARD STROBES-R-US MAIN VEHICLE WIRING HARNESS USED WITH BUMPER LIGHTING HARNESS 16518178 AND SPEA HARNESS 16518180 NON CONTRACT ITEM	KER 1	115.82	115.82
16518178	STANDARD STROBES-R-US ADDON HARNESS TO WIRE PUSH BUMPER LIGHTS. USED WITH MAIN HARNESS 16518177 AND SPEAKER HARNESS 16518180 NON CONTRCAT ITEM		17.56	17.56
16518180	STANDARD STROBES-R-US ADDON HARNESS TO WIRE 2 SPEAKERS. USED WITH MAIN HARNESS 16518177 AND BUMPE HARNESS 16518178 NON CONTRACT ITEM	ER 1	19.52	19.52
INSTALL	CUSTOM INSTALLATION PER HOUR	32	55.00	1,760.00
	, 			
		Sales Tax (7.0)n%)	\$0.00

Phone #	Fax #	E-mail	Web Site
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
12/24/2021	30321	

Bill To:
PORT ST. LUCIE POLICE DEPT
121 SW PORT ST LUCIE BLVD
BUILDING C
PORT ST LUCIE, FL 34984

Ship To:	
PORT ST. LUCIE POLICE DEPT	
ATTN: MARTIN GHOBRIAL	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PIU K9 X 1 NO ACEK9 ELECT						
Product	Description Qty Cust. Price						
	ACTIVATE OEM HEADLIGH 1 X BREAKER (183-0008) CORE SYSTEM PROGRAMI 1 X 55" CUSTOM DUO LEGA FRONT IS 1/2 BLUE 1/2 RED REAR IS 1/2 BLUE 1/2 RED CUSTOM PODS IN THE REA STRAP KIT (GB2-STT-RB, S 1 X CORE SYSTEM MODUL C399K4) 1 X CORE CONTROL HEAD 1 X CV2V VEH 2 VEH SYNC 1 X SPEAKER WITH SAK66I SKIRT PASS SIDE 1 X SINGLE CHOWLER (WI BRACKET BEHIND BUMPER 1 X GO-RHINO PUSH BUMP 5344-T-6SRU) 1 X COMMADERELITE 6-PC IN UPPER LIGHT CHANEL O 2 X SRUS12D-RBW MOUNT WARNING AND WHITE OVE 2 X VTX609C HIDEAWAY LE OUTS 2 X HERO-W IN OEM REAR 2 X SIDE RUNNING BOARD RED/BLUE/RED/BLUE/RED/ 1 X CEM16 EXPANSION MO	MING FOR: ACY BAR (BLUE DRIVER / RED O WITH OVERRIDE TO WHITE SI WITH OVERRIDE TO AMBER AR AR ARE TRIO RED FOR STOP LI TPKT) E WITH CHARGER ODB KIT (C3 (CCTL6) H P BRACKET, MOUNT BEHIND BI ECAN X) LO-FREQUENCY SIRE R SKIRT PER W/ 6-POD LIGHT CHANNEL(DD R/B/R/B/R/B WITH WHITE OV DF PUSH BAR ON SIDE OF PUSH BUMPER WERRIDE EDS IN OEM FRONT HEADLIGHT REVERSE, WARING TO BE RED LIGHTS, BLUE ONE EACH SIDE	PASS) CENE. RROW. 2 GHT AND 1999, UMPER 1N WITH (ERRIDE VIRE FOR T CUT D/BLUE				
			Sales Tax (7.	00%)	\$0.00		
Phone #	Fax#	E-mail	v	Veb Site			
954-946-9955	954-946-9677	SALES@SRUS.COM	1400000	ROBES-R-US.C	<u> </u>		



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/24/2021	30321

PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984

Suib to	ŀ	Shi	p	To
---------	---	-----	---	----

Reference	2022 PIU K9 X 1 NO ACE	K9 ELECT				
Product	Product Description				Cust. Price	Total
INSTALL	1 X CONSOLE C-VS-1012-INUT, RELOACTE FACTORY 12-VT AND USB OUTLET, INCLUDES 2 ADDITIONAL 12VT OUTLETS, WIRE IN CUTOUTS 1 X C-PM-124 PRINTER MOUNT (WITH USB CABLE ONLY, PRINTER IS BLUE TOOTH) 1 X DUAL CUP HOLDER (CUP2-1001) 1 X FACE PLATES FOR CARBIDE CONTROL (C-EB40-CCS-1P) AND APEX 6500 REMOTE HEAD RADIO (C-EB25-XTL-1P) CUSTOMER WILL INSTALL RADIO LEAVE EQUIPMENT BRACKET IN CONSOLE 1 X SIDE MOUNT BASE AND POLE C-HDM-214 1 X SWING ARM C-MD-112 1 X DELL DOCKING STATION (NO PASS THROUGH ANTENNA) DS-DELL-425 1 X POWER SUPPLY FOR DELL LPS-137 1 X POWER SUPPLY MOUNTING BRACKET 2 X MMSU-1 MAGNETIC MIC (CUSTOMER WILLMOUNT) CUSTOM INSTALLATION PER HOUR INSTALL: CUSTOMER SUPPLIED			4	55.00	220.00
	1 X SEPARATION CABLE, R LOCATION TBD) 1 X MOUNT RADIO SPEAKE 1 ANTENNA, MOUNT AND R TBD)	RUN WIRES TO REAR HATCH (LO	OCATION			
EZPF-INTERCEPTERSU V-2020+		OR 2020+ FORD PI UTILTY SUV, SH, WITH RUBBER MAT, R/W LEI T\$ 2520.00 EACH		1	2,268.00	2,268.00
K9-EZ-WATERDISH	•	FOR AMERICAN ALUMINUM K9	CELL	1	117.00	117.00
EZ-UP-EXPLORER-2020		BLOCKBOX. BSO STYLE WITH R EXPLORER INTERCEPTOR SUV \$ 1370.00 EACH		1	1,233.00	1,233.00
			Sales Ta	ax (7.00	0%)	\$0.00
Phone #	Fax #	E-mail		We	b Site	··· - ··-
954-946-9955	954-946-9677	SALES@SRUS.COM	ww		BES-R-US.C	ОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
12/24/2021	30321	

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PIU K9 X 1 NO ACEK9 ELECT			
Product	Description	Qty	Cust. Price	Total
Shipping	UPS SHIPPING FOR AMERICAN ALUMINUM ITEMS ONLY	1	283.00	283.00
INSTALL	FOR AMERICAN ALUMINUM ITEMS ONLY CUSTOM INSTALLATION PER HOUR FOR AMRICAN ALUMINU INSERT AND REAR VAULT INSTALL: 1 X K9 INSERT FULL PLATFORM WITH WATER DISH, DOME LI AND RUBBER MAT 1 X UPVAULT FOR REAR CARGO AREA	M K9 12	55.00	660.00
Pio	ease call in advance for an appointment	Sub	total	\$13,856.70
Approved By:	-	Sales Tax (7.0	00()	\$0.00

r lease call in advance for an appointment				Cabiotal Vision		
Approved By:				Sales Tax (7.00%)		
PO #:				Total	\$13,856.70	
Phone #		Fax #	E-mail	Web Site		
954-946-99	55	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-U	JS.COM	



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984

Ship to	o	Ŧ	p	i	Sh	
---------	---	---	---	---	----	--

PORT ST. LUCIE POLICE DEPT ATTN: LISA SMITH 121 SW PORT ST LUCIE BLVD

BUILDING C PORT ST LUCIE, FL 34984

Reference	2022 PI UTILITY SGT X 5	<u>-</u>			
Product		Description			Total
	**PRICE QUOTE PER BSO CONTRACT # 18006AG				
		R (5) 2022 FORD PI UTILITY SERC	SEANT	ŀ	
	VEHICLES **THIS PRICE QUOTE DOES NOT INCLUDE VEIHICLE PICK UP OR			ŀ	
			OR		
		DELIVERY CHARGES, PICK UP AND DELIVERY WILL BE RESPONSIBILITY OF PORT ST LUCIE PD (NO PRINTER MOUNT)			
	**PRICE QUOTE IS GOOD F	`` <i>'</i>			
	**				
183-0008	Circuit breaker, 50 amp thern	nal with manual reset, surface mount	5	48.75	243.75
	D&R LIST \$ 65.00 EACH				
BW50UFX-WCX-RB-W		R EDGE DUO 20 - 21 FORD	5	2,653.75	13,268.75
		DE BLUE / PASS SIDE RED WITH W	HITE		
	OVERRIDE (SEE CONFIGU		İ		
BS50Z-WCX-RB/A	WHELEN LIST \$ 4825.00 EA	GE DUO 10 POD 20 - 21 FORD	5	000	0.00
BOJUZ-WCA-NBIA		BLUE WITH AMBER OVERRIDE	l °	0.00	0.00
	INCLUDED IN PACKAGE	BEOL WITHAMBER OVERRIBE			
C399	CONCOM CORE AMPLIFIER	R CONTROL MODULE (CAN ORDER	5	0.00	0.00
	CCTL7 TOUCHPAD AND CCTLMIC MICROPHONE FOR COMPLETE				
	SIREN)				
007.0	INCLUDED IN PACKAGE		5	0.00	0.00
CCTL6		WeCanX KNOB/SLIDE CONTROL HEAD ROTARY KNOB TOUCPAD VERSION - ALSO INCLUDES CCTLMIC			
	MICROPHONE KIT	PERSION - ALSO INCLUDES COTE	VIIC		
	INCLUDED IN PACKAGE				
C399K4		TALLATION KIT FOR C399, 2020	5	0.00	0.00
	EXPLORER UTILITY WITHO				
	INCLUDED IN PACKAGE				
CV2V	WECAN X VEHICLE-TO-VEH	HICLE SYNCH MODULE	5	0.00	0.00
	INCLUDED IN PACKAGE				
SA315P	SA315P SPEAKER, BLACK	PLASTIC	5	0.00	0.00
	INCLUDED IN PACKAGE				
	ı	1	ı	1 1	
		<u> </u>			
		·	Sales Tax (7.0	00%)	\$0.00
		9	-		
Phone #	Fax#	E-mail	w	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.	СОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY SGT X 5				
Product	9	Description	Qty	Cust. Price	Total
SAK66P	2020 SA-315 MT KIT FORD INTERCEPTOR UTILITY PASSENGER SIDE GRILLE INCLUDED IN PACKAGE			0.00	0.00
CHWLFE29	WCX LOW FREQUENCY SIREN SYSTEM THIS IS A COMPLETE 5 0.00 HOWLER AMP WITH SPEAKER AND CUSTOM BRACKET TO FIT 2021 POLICE INTERCEPTOR UTILITY EXPLORER INCLUDED IN PACKAGE				0.00
VTX609C	VERTEX SUPER-LED LIGHT WHELEN LIST \$ 119.00 EAC		10	65.45	654.50
LSVBKT50	LINSV MIRROR MT KIT 2020 WHELEN LIST \$ 28.00 EACH) UTILITY	5	15.40	77.00
LINSV2B	SURFACE MT LINZ V-SERIE WHELEN LIST \$ 257.00 EAC	S BLUE	5	141.35	706.75
LINSV2R	SURFACE MT LINZ V-SERIE WHELEN LIST \$ 257.00 EAC	SRED	5	141.35	706.75
MBFX20RB	1 · · · · · · · · · · · · · · · · · · ·			1,086.25	
SRU-RUNNER-60-RB				3,465.00	
5344-T-6SRU				2,061.75	
COMMANDERELITE6-3R 3B	DUO 6 POD COMMANDER ELITE WARNING AND DIRECTIONAL PODS THAT GO ALL WHITE FOR SCENE 3 RED 3 BLUE PODS SIGNAL VEICLE LIST \$ 680.00 EACH			374.00	1,870.00
SRUS12D-RB-W	•	light head, black base (12~24VDC) RRIDE 36" CABLE	10	89.65	896.50
			Sales Tax (7.0	0%)	\$0.00
Phone #	Fax #	E-mail	W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	DBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Bill To:
PORT ST. LUCIE POLICE DEPT
121 SW PORT ST LUCIE BLVD
BUILDING C
PORT ST LUCIE, FL 34984

Reference	2022 PI UTILITY SGT X 5				
Product		Qty	Cust. Price	Total	
HERO-W	HIDEAWAY LED W/WHITE INDICATOR LEDS/ R,B,A,W Warning LEDS (*Must use vehicle adaptor bezel for proper installation) HELLA LIST \$ 175.00 EACH			96.25	962.50
HERO-ADAPTER2	HIDEAWAY LED ADAPTER FOR: 2020 INTERCEPTOR UTILITY REAR REVERSE BULB HELLA LIST \$ 19.00 EACH			10.45	104.50
PSJ02FCR	•	2" SLIM-LITE LED SURFACE MOUN' CH	T 10	99.00	990.00
PSBKT90	SINGLE 90 DEG MT KIT FOI WHELEN LIST \$ 23.50 EACI	R STRIP LT LIGHTHEAD	10	12.93	129.30
C-VS-1012-INUT	2020 AND NEWER Ford Inte 20" Console HAVIS LIST \$ 508.00 EACH	rceptor Utility *ANGLED *Vehicle Spe	cific 5	340.11	1,700.55
C-EB40-WS2-1P	Equipment mounting bracket 4" Fits: Whelen 295HFSA6 Whelen 295HFS4 Whelen 295HFS5/6 Whelen 295SLSA6 Whelen 295HFS9 Whelen MPC01 (b-link) INCLUDED WITH CONSOLE			0.00	0.00
C-EB25-MMT-1P	Equipment mounting bracket 2.5" Fits: miscellaneous Havis PT-VIDEO-mdvr Miscellaneous eagle eye 110 mdvr Miscellaneous eagle eye 200-RHD mdvr Miscellaneous safety vision route recorder cf mdvr Motorola max trac 3000 Motorola XTL5000 W7 Motorola xtl INCLUDED WITH CONSOLE			0.00	0.00
*	HAVIS FILLER PLATES TO ENCLOSE CONSOLE INCLUDED WITH CONSOLE			0.00	0.00
CUP2-1001	4" Self-Adjusting Double Cup Holder. Ocupies 4" of equip bracket space with a depth of 3" HAVIS LIST \$ 65.09 EACH			42.31	211.55
C-ARM-103	Armrest for top mount, console, large pad HAVIS LIST \$ 158.28 EACH		5	102.88	514.40
MMSU-1	MAGNETIC MIC SINGLE UNIT COMPLETE. NON CONTRACT ITEM		10	29.75	297.50
C-HDM-214	8.5" Heavy Duty Telescoping	Pole, side mount	5	87.84	439.20
			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail	w	eb Site	
					·OM
954-946-9955	954-946-9677 SALES@SRUS.COM WWW.STROBES-R-US.COM			OM	



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY SGT X 5					
Product			Qty	Cust. Price	Total	
C-MD-112	HAVIS LIST \$ 135.14 EACH Tilt/swivel slide motion adapt HAVIS LIST \$ 349.07 EACH		5	226.90	1,134.50	
DS-DELL-425		ort Replication for Dell Latitude Rug , 5424 & 7424	ged	5	485.90	2,429.50
LPS-137	90 Watt Power Supply (with f for use with DS-DELL-100,11 Series, DS-DELL-300 Series Series Docking Stations HAVIS LIST \$ 235.70 EACH	5	153.21	766.05		
LPS-211		FOR MOUNTING POWER SUPPL CRADLE	Y ON	5	25.45	127.25
GVM-S	SINGLE WEAPON, SELF SU	SINGLE WEAPON, SELF SUPPORTING VERTICAL MOUNT ON 5 330.00 FLOOR BOARD BETWEEN BUCKET SEATS				
1080E	BLAC RAC GUN LOCK 1080E BOSS LIST \$ 525.00 EACH				497.65	2,488.25
25018	BLAC-RAC VERTICAL ADJUSTABLE CHANNEL TO MOUNT 1080E BOSS LIST \$ 48.00 EACH				43.20	216.00
16518177	STANDARD STROBES-R-US MAIN VEHICLE WIRING HARNESS USED WITH BUMPER LIGHTING HARNESS 16518178 AND SPEAKER HARNESS 16518180 NON CONTRACT ITEM				115.82	579.10
16518178	STANDARD STROBES-R-US ADDON HARNESS TO WIRE PUSH BUMPER LIGHTS. USED WITH MAIN HARNESS 16518177 AND SPEAKER HARNESS 16518180 NON CONTRCAT ITEM				17.56	87.80
16518180	STANDARD STROBES-R-U	S ADDON HARNESS TO WIRE 2 AIN HARNESS 16518177 AND BU	IMPER	5	19.52	97.60
			Sales	Tax (7.0	00%)	\$0.00
				•••	- L 04	
Phone #	Fax #	E-mail			eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	w	WW.STR	OBES-R-US.	COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Вііі То:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY SGT X 5				
Product		Description	Qty	Cust. Price	Total
	CUSTOM INSTALLATION PI		Qty 190	55.00	Total 10,450.0
 Phone #	Fax #	E-mail	Sales Tax (7.0		\$0.00
		 			
954-946-9955	954-946-9677	SALES@SRUS.COM	www.STR	JRF2-K-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Bill To:			
PORT ST. LUCIE POLICE (DEPT		

BUILDING C PORT ST LUCIE, FL 34984

121 SW PORT ST LUCIE BLVD

Ship	To:
------	-----

PORT ST. LUCIE POLICE DEPT

ATTN: LISA SMITH

121 SW PORT ST LUCIE BLVD

BUILDING C

PORT ST LUCIE, FL 34984

Reference	2022 PI UTILITY SGT X 5					
Product		Description	Qty	Cust. Price	Total	
		RADIO SEPARATION CABLE, RU F THE BRICK (TO BE DETERMINE				
	PREPARE AND RUN WIRE H	HARNESSES, 16518177, 16518178	i,			
	****BLUE DRIVER / RED PAS	SS****	,			
	*ACTIVATE OEM HEADLIGH 1 X BREAKER (183-0008) CORE SYSTEM PROGRAMI					
		ITH FRONT AND REAR DUO				
		O WITH OVERRIDE TO WHITE SCE WITH OVERRIDE TO AMBER ARR (5)	I			
	1 X CORE SYSTEM MODUL C399K4) 1 X CORE CONTROL HEAD	E WITH CHARGER ODB KIT (C399	9,			
	1 X CV2V VEH 2 VEH SYNC		//PER			
	1 X SINGLE CHOWLER (WE BRACKET BEHIND BUMPER	ECAN X) LO-FREQUENCY SIREN R SKIRT PER W/ 6-POD LIGHT CHANNEL(WITH			
	5344-T-6SRU) 1 X COMMADERELITE 6-PO	DD R/B/R/B/R/B WITH WHITE OVER	RRIDE			
	IN UPPER LIGHT CHANEL C 2 X SRUS12D-RBW MOUNT WARNING AND WHITE OVE	ON SIDE OF PUSH BUMPER WIR	RE FOR			
	OUTS	DS IN OEM FRONT HEADLIGHT C UNDER SIDE MIRROR WITH BRKT				
	TA EINGVED DITIVER SIDE	ONDER SIDE MIRROR WITH BIRR	' !	1		
			Sales Tax (7	00%)	\$0.0	
Phone #	Fax #	E-mail	V	Veb Site		
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STF	WWW.STROBES-R-US.COM		



PORT ST LUCIE, FL 34984

STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	

Reference	2022 PI UTILITY SGT X 5				8
Product		Description	Qty	Cust. Price	Total
INSTALL	1 X SET MBFX20-RB SET M RED PASS SIDE 2 X SIDE RUNNING BOARD RED/BLUE/RED/B	VBLUE ONE EACH SIDE NUT, RELOACTE FACTORY 12-V ADDITIONAL 12VT OUTLETS, W PUNT (WITH USB CABLE ONLY, I UP2-1001) RBIDE CONTROL(C-EB40-CCS-1 RADIO (C-EB25-XTL-1P) RADIO LEAVE EQUIPMENT BRA D POLE C-HDM-214 ON (NO PASS THROUGH ANTEN DELL LPS-137 NTING BRACKET C (CUSTOMER WILL MOUNT) N LOCK SELF SUPPORTED (GVI	T AND VIRE IN PRINTER P) AND CKET IN NA)	AND RINTER AND KET IN A) S) TH	
INOTALL	CUSTOM INSTALLATION PE	EN HOUR	20	35.00	1,100.0
	•		<u> </u>	. ,	
			Sales Tax (7.	00%)	\$0.00
Phone #	Fax #	E-mail	v	/eb Site	
	IGAT	E-man	•		



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30337

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Ship To:	
PORT ST. LUCIE POLICE DEPT	
ATTN: LISA SMITH	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Product Description Qty Cust. Price Total	Reference	20	022 PI UTILITY SGT X 5					
CUSTOMER SUPPLIED 1 x SEPARATION CABLE, RUN FROM CONSOLE TO REAR HATCH (LOCATION TBD) 1 x MOUNT RADIO SPEAKER IN HAVIS CONSOLE 1 ANTENNA, MOUNT AND RUN WIRES TO REAR HATCH (LOCATION TBD) 1 x MOUNT AND RUN WIRES TO REAR HATCH (LOCATION TBD) 1 x MOUNT AND RUN WIRES TO REAR HATCH (LOCATION TBD) 2 x MOUNT AND RUN WIR	Product			Description		Qty	Cust. Price	Total
Approved By: Sales Tax (7.00%) \$0.00 PO #: Total \$51,512.55 Phone # Fax # E-mail Web Site	Product	1 L(1	USTOMER SUPPLIED X SEPARATION CABLE, RI OCATION TBD) X MOUNT RADIO SPEAKE ANTENNA, MOUNT AND R	JN FROM CONSOLE TO REAR H R IN HAVIS CONSOLE	·	uty	Cust. Price	Total
PO #: Total \$51,512.55 Phone # Fax # E-mail Web Site	Ple	ease	call in advance for an a	ppointment		Sub	total	\$51,512.55
Phone # Fax # E-mail Web Site	Approved By:			· · · · · · · · · · · · · · · · · · ·	Sales	Tax (7.0	00%)	\$0.00
· · · · · · · · · · · · · · · · · · ·	PO #:					To	otal	\$51,512.55
· · · · · · · · · · · · · · · · · · ·	Phone #		Fax #	E-mail	=	W	eb Site	
					w			СОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY LT X 2					
Product		Description		Qty	Cust. Price	Total
	LIEUTENANT VEHICLES **THIS PRICE QUOTE DOES DELIVERY CHARGES, PICK	R (2) 2022 FORD PI UTILITY S NOT INCLUDE VEIHICLE PICK I UP AND DELIVERY WILL BE ST LUCIE PD (NO PRINTER MO				
183-0008		nal with manual reset, surface mou	nt	2	48.75	97.50
BW50UFX-WCX-RB-W		ER EDGE DUO 20 - 21 FORD BLUE WITH WHITE OVERRIDE		2	2,653.75	5,307.50
BS50Z-WCX-RB/A	WECAN X REAR INNER ED	GE DUO 10 POD 20 - 21 FORD BLUE WITH AMBER OVERRIDE		2	0.00	0.00
C399	CONCOM CORE AMPLIFIER CCTL7 TOUCHPAD AND CC SIREN)	R CONTROL MODULE (CAN ORD) TLMIC MICROPHONE FOR COM	ER PLETE	2	0.00	0.00
CCTL6	MICROPHONE KIT	TROL HEAD /ERSION ALSO INCLUDES CC1	ΓLMIC	2	0.00	0.00
C399K4	INCLUDED IN PACKAGE CENCOM CORE OBD II INS EXPLORER UTILITY WITHO INCLUDED IN PACKAGE	TALLATION KIT FOR C399, 2020 OUT OPTION 61B		2	0.00	0.00
CV2V	WECAN X VEHICLE-TO-VEH	HICLE SYNCH MODULE		2	0.00	0.00
SA315P	SA315P SPEAKER, BLACK I INCLUDED IN PACKAGE	PLASTIC		2	0.00	0.00
	ı				1	\$0.00
			Sales	5 Tax (7.0	JU%) 	\$0.00
Phone #	Fax#	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	V	ww.str	OBES-R-US.	СОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	я

Reference	2022 PI UTILITY LT X 2				
Product		Description	Qty	Cust. Price	Total
SAK66P	2020 SA-315 MT KIT FORD I SIDE GRILLE INCLUDED IN PACKAGE	NTERCEPTOR UTILITY PASSEN	GER 2	0.00	0.00
CHWLFE29	WCX LOW FREQUENCY SIREN SYSTEM THIS IS A COMPLETE HOWLER AMP WITH SPEAKER AND CUSTOM BRACKET TO FIT 2021 POLICE INTERCEPTOR UTILITY EXPLORER INCLUDED IN PACKAGE			0.00	0.00
VTX609C	VERTEX SUPER-LED LIGHT	–	4	65.45	261.80
LSVBKT50	LINSV MIRROR MT KIT 2020 WHELEN LIST \$ 28.00 EACH		2	15.40	30.80
LINSV2B	SURFACE MT LINZ V-SERIE WHELEN LIST \$ 257.00 EAC		2	141.35	282.70
LINSV2R	SURFACE MT LINZ V-SERIE WHELEN LIST \$ 257.00 EAC	- · · · · · ·	2	141.35	282.70
MBFX20RB	ION MIRROR-BEAM 2020 PI UTILITY RED AND BLUE (MOUNT BLUE DRIVER RED PASS) WHELEN LIST \$ 395.00 EACH			217.25	434.50
SRU-RUNNER-60-RB	·			346.50	1,386.00
COMMANDERELITE6-3R 3B		ELITE WARNING AND DIRECTIOI FOR SCENE 3 RED 3 BLUE POD 00 EACH	• • • • • • • • • • • • • • • • • • •	374.00	748.00
SRUS-L-3	"L" BRACKET FOR ARROW NON CONTRACT ITEMS		4	8.95	35.80
SRUS12D-RB-W	DUO 12 diode surface mount RED/BLUE WITH WITE OVE SIGNAL VEHICLE LIST \$ 16:		3) 4	89.65	358.60
MCRNTB	STUD MOUNT MICRON BLU WHELEN LIST \$ 133.00 EAC		2	73.15	146.30
MCRNTR	STUD MOUNT MICRON REI	0	_	73.15	146.30
			Sales Tax (7.0	00%)	\$0.00
	T 5. 4				
Phone #	Fax #	E-mail		eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	L www.str	OBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	
•	

Reference	2022 PI UTILITY LT X 2				
Product		Description	Qty	Cust. Price	Total
HERO-W	WHELEN LIST \$ 133.00 EACH HIDEAWAY LED W/WHITE INDICATOR LEDS/ R,B,A,W Warning LEDS (*Must use vehicle adaptor bezel for proper installation)		g LEDS 4	96.25	385.00
HERO-ADAPTER2	HELLA LIST \$ 175.00 EACH HIDEAWAY LED ADAPTER REVERSE BULB HELLA LIST \$ 19.00 EACH	FOR: 2020 INTERCEPTOR UTILITY	rear 4	10.45	41.80
PSJ02FCR		2" SLIM-LITE LED SURFACE MOU	NT 4	99.00	396.00
PSBKT90	SINGLE 90 DEG MT KIT FO WHELEN LIST \$ 23.50 EAC	R STRIP LT LIGHTHEAD	4	12.93	51.72
C-VS-1012-INUT		erceptor Utility *ANGLED *Vehicle Sp	pecific 2	340.11	680.22
C-EB40-WS2-1P	Equipment mounting bracket 4" Fits: Whelen 295HFSA6 Whelen 2 0.00 295HFS4 Whelen 295HFS5/6 Whelen 295SLSA6 Whelen 295HFS9 Whelen MPC01 (b-link) INCLUDED WITH CONSOLE			0.00	
C-EB25-MMT-1P	Equipment mounting bracket 2.5" Fits: miscellaneous Havis PT-VIDEO-mdvr Miscellaneous eagle eye 110 mdvr Miscellaneous eagle eye 200-RHD mdvr Miscellaneous safety vision route recorder cf mdvr Motorola max trac 3000 Motorola XTL5000 W7 Motorola xtl			0.00	0.00
*	INCLUDED WITH CONSOLE HAVIS FILLER PLATES TO ENCLOSE CONSOLE INCLUDED WITH CONSOLE		2	0.00	0.00
CUP2-1001	4" Self-Adjusting Double Cup Holder. Ocupies 4" of equip bracket space with a depth of 3" HAVIS LIST \$ 65.09 EACH		2	42.31	84.62
C-ARM-103	Armrest for top mount, conso		2	102.88	205.76
MMSU-1	MAGNETIC MIC SINGLE UI NON CONTRACT ITEM		4	29.75	119.00
			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail	Web Site		
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY LT X 2					
Product		Description	Qt	ty	Cust. Price	Total
C-HDM-214	8.5" Heavy Duty Telescoping Pole, side mount			2	87.84	175.68
	HAVIS LIST \$ 135.14 EACH					
C-MD-112	Tilt/swivel slide motion adapte	er		2	226.90	453.80
	HAVIS LIST \$ 349.07 EACH					
DS-DELL-425		rt Replication for Dell Latitude Rugg	ed	2	485.90	971.80
	Notebooks 5430, 7330, 5420,	5424 & 7424				
LPS-137	HAVIS LIST \$ 747.54 EACH	nuite band for in rebials FAM arrang	:>	_	452.04	200.40
LPS-137		errite bead for in-vehicle EMI suppre 0 Series, DS-DELL-200,210,220,230		2	153.21	306.42
		DS-DELL-400 Series, and DS-GD-				
	Series Docking Stations	DO-DELE-400 Series, and DO-OD-			i I	
	HAVIS LIST \$ 235.70 EACH					
LPS-211		FOR MOUNTING POWER SUPPLY	ON I	2	25.45	50.90
	HAVIS DOCKING STATION/			_		
	HAVIS LIST \$ 39.16 EACH					
GVM-S	SINGLE WEAPON, SELF SU	PPORTING VERTICAL MOUNT ON	1	2	330.00	660.00
	FLOOR BOARD BETWEEN I					
	PRO-GARD LIST \$ 440.00 E					
1080E	BLAC RAC GUN LOCK 1080	E		2	497.65	995.30
	BOSS LIST \$ 525.00 EACH					
25018	1	STABLE CHANNEL TO MOUNT 10	80E	2	43.20	86.40
	BOSS LIST \$ 48.00 EACH					
16518177		MAIN VEHICLE WIRING HARNES		2	115.82	231.64
		TING HARNESS 16518178 AND SP	'EAKER			
	HARNESS 16518180					
16518178	NON CONTRACT ITEM	S ADDON HARNESS TO WIRE PUS		2	17.56	35.12
10310170		TH MAIN HARNESS 16518177 ANI		2	17.30	35.12
	SPEAKER HARNESS 16518		۱ ا			
	NON CONTRCAT ITEM	100				
16518180	•	S ADDON HARNESS TO WIRE 2		2	19.52	39.04
	•	AIN HARNESS 16518177 AND BUN	IPER	-	10.02	00.0
	HARNESS 16518178					
	•	1	•	•	•	
		L				
			Sales Tax	(7.0	0%)	\$0.00
		<u> </u>		•		
Phone #	Fax #	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.	STRO	DBES-R-US.C	COM
		=======================================			· · · · · · · · · · · · · · · · · · ·	



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY LT X 2				
Product		Description	Qty	Cust. Price	Total
INSTALL	NON CONTRACT ITEM CUSTOM INSTALLATION PE	ER HOUR	66	55.00	3,630.00
	1				
			Sales Tax (7.	00%)	\$0.00
				e	
Phone #	Fax#	E-mail	Web Site		
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY LT X 2				
Product		Description	Qty	Cust. Price	Total
	IF CUSTOMER PROVIDED CONSOLE TO LOCATION OF PREPARE AND RUN WIRE F16518180 ***BLUE DRIVER / RED PASS	O RADIO SEPARATION CABLE, RUN F THE BRICK (TO BE DETERMINED HARNESSES, 16518177, 16518178, SS**** IT FLASHER* MING FOR: ITH FRONT AND REAR DUO O WITH OVERRIDE TO WHITE SCEN WITH OVERRIDE TO AMBER ARRO S) E WITH CHARGER ODB KIT (C399, (CCTL6) P BRACKET, MOUNT BEHIND BUMF R SKIRT OD R/B/R/B/R/B WITH WHITE OVERF //ITH L-BRKT'S IN FOG LIG AREA, WIRE FOR	FROM D)	Cust. Price	Total
			Sales Tax (7.	00%)	\$0.00
Phone #	Fax#	E-mail	v	Veb Site	-
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM		214



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30339

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY LT X 2					<u> </u>
Product		Description		Qty	Cust. Price	Total
INSTALL	1 X SET MBFX20-RB SET MI RED PASS SIDE 2 X SIDE RUNNING BOARD RED/BLUE/RED/BLUE/RED/I 1 X CONSOLE C-VS-1012-IN USB OUTLET, INCLUDES 2 / CUTOUTS 1 X C-PM-124 PRINTER MOI IS BLUE TOOTH) 1 X DUAL CUP HOLDER (CU 1 X FACE PLATES FOR CAR APEX 6500 REMOTE HEAD CUSTOMER WILL INSTALL F CONSOLE 1 X SIDE MOUNT BASE AND 1 X SWING ARM C-MD-112 1 X DELL DOCKING STATIOI DS-DELL-425 1 X POWER SUPPLY FOR D 1 X POWER SUPPLY MOUN 2 X MMSU-1 MAGNETIC MIC	BLUE ONE EACH SIDE IUT, RELOACTE FACTORY 12-V ADDITIONAL 12VT OUTLETS, W UNT (WITH USB CABLE ONLY, I IP2-1001) BIDE CONTROL(C-EB40-CCS-1 RADIO (C-EB25-XTL-1P) RADIO LEAVE EQUIPMENT BRA I) POLE C-HDM-214 N (NO PASS THROUGH ANTEN ELL LPS-137 TING BRACKET C (CUSTOMER WILL MOUNT) LOCK SELF SUPPORTED (GVI RACK MOUNT ON OPEN SIDE V	T AND JIRE IN PRINTER P) AND CKET IN	8	55.00	440.00
			Sales Ta	ax (7.00	0%)	\$0.00
Phone #	Fax #	E-mail			b Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	1 10000	A/ CTDA	BES-R-US.C	ON4



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
12/17/2021	30339	

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	

Reference	eference 2022 PI UTILITY LT X 2				
Product		Description	Qty	Cust. Price	Total
	LOCATION TBD) 1 X MOUNT RADIO SPEAKE	UN FROM CONSOLE TO REAR H	ATCH (
Ple	ase call in advance for an a	ppointment	Sı	ıbtotal	\$19,558.72
Approved By:			Sales Tax (7.00%)	\$0.00
PO#:				Total	\$19,558.72
Phone #	Fax#	E-mail		Web Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.S1	ROBES-R-U	S.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30341

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY TRAFFIC	C X 4				
Product	Description				Cust. Price	Total
	**PRICE QUOTE PER BSO (
		PR (4) 2022 FORD PI UTILITY TE	RAFFIC			
	VEHICLES	S NOT INCLUDE VEHICLE BICK	LIB OB			
	**THIS PRICE QUOTE DOES NOT INCLUDE VEIHICLE PICK UP OR DELIVERY CHARGES, PICK UP AND DELIVERY WILL BE					
		ST LUCIE PD (NO PRINTER MO	OUNT)			
	**PRICE QUOTE IS GOOD F		, ,			
	**THIS QUOTE WAS MODIF	IED ON 2-14-22, QUNATITY CHA	NGED TO			
	(4) AND UPDATED DATE					
183-0008			4		40.75	405.00
103-0000	D&R LIST \$ 65.00 EACH	nal with manual reset, surface mou	ınt	4	48.75	195.00
BW50UFX-WCX-RB-W	1	R EDGE DUO 20 - 21 FORD		4	2,653.75	10,615.00
DIVOOT X-VIOX-ND-VI		2 BLUE WITH WHITE OVERRIDE		*	2,000.70	10,015.00
	WHELEN LIST \$ 4825.00 EA					
BS50Z-WCX-RB/A	WECAN X REAR INNER ED	GE DUO 10 POD 20 - 21 FORD		4	0.00	0.00
		BLUE WITH AMBER OVERRIDE				
0000	INCLUDED IN PACKAGE					
C399		R CONTROL MODULE (CAN ORE TLMIC MICROPHONE FOR CON		4	0.00	0.00
	SIREN)	TEMIC MICROPHONE FOR COM	IPLE IE			
	INCLUDED IN PACKAGE					
CCTL6	WeCanX KNOB/SLIDE CONT	TROL HEAD		4	0.00	0.00
		ÆRSION ALSO INCLUDES CC	TLMIC			
	MICROPHONE KIT					
C399K4	INCLUDED IN PACKAGE	TALLATION KIT FOR COOK 2020			0.00	0.00
C399N4	EXPLORER UTILITY WITHO	TALLATION KIT FOR C399, 2020		4	0.00	0.00
	INCLUDED IN PACKAGE	OF HONOIB				
CV2V	WECAN X VEHICLE-TO-VEH	HICLE SYNCH MODULE		4	0.00	0.00
	INCLUDED IN PACKAGE			·		
SA315P	SA315P SPEAKER, BLACK	PLASTIC		4	0.00	0.00
			, 1			
			Sales	Tax (7.0	0%)	\$0.00
Phone #	Fax #	E-mail		W	eb Site	8.



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
2/14/2022	30341	

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	
BUILDING C	

Reference	2022 PI UTILITY TRAFFIC	C X 4			
Product	Description			Cust. Price	Total
SAK66P	INCLUDED IN PACKAGE 2020 SA-315 MT KIT FORD INTERCEPTOR UTILITY PASSENGER SIDE GRILLE			0.00	0.00
CHWLFE29	INCLUDED IN PACKAGE WCX LOW FREQUENCY SIF HOWLER AMP WITH SPEAK POLICE INTERCEPTOR UTI		0.00	0.00	
VTX609C	INCLUDED IN PACKAGE VERTEX SUPER-LED LIGHT WHELEN LIST \$ 119.00 EAC		8	65.45	523.60
LSVBKT50	LINSV MIRROR MT KIT 2020 WHELEN LIST \$ 28.00 EACH) UTILITY	4	15.40	61.60
LINSV2B	SURFACE MT LINZ V-SERIE WHELEN LIST \$ 257.00 EAC	S BLUE	4	141.35	565.40
LINSV2R	SURFACE MT LINZ V-SERIE WHELEN LIST \$ 257.00 EAC	SRED	4	141.35	565.40
MBFX20RB	ION MIRROR-BEAM 2020 PI DRIVER RED PASS) WHELEN LIST \$ 395.00 EAC	BLUE 4	217.25	869.00	
SRU-RUNNER-60-RB	60" STRIP LIGHT WITH BUILD IN FLASHER. ALUMINUM CHASSIS 6 10 INCH SECTIONS R/B/R/B/R/B SHO-ME LIST \$ 495.00 EACH			346.50	2,772.00
COMMANDERELITE6-3R 3B	DUO 6 POD COMMANDER I PODS THAT GO ALL WHITE		374.00	1,496.00	
SRUS-L-3	SIGNAL VEICLE LIST \$ 680. "L" BRACKET FOR ARROW NON CONTRACT ITEMS	8	8.95	71.60	
SRUS12D-RB-W	DUO 12 diode surface mount RED/BLUE WITH WITE OVE	8	89.65	717.20	
MCRNTB	SIGNAL VEHICLE LIST \$ 16: STUD MOUNT MICRON BLU WHELEN LIST \$ 133.00 EAC	JE	4	73.15	292.60
	I		ř	I	
			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail		eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	DBES-R-US.C	MO



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
2/14/2022	30341	

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	
PORT ST LUCIE, FL 34984	

Product MCRNTR HERO-W		Description		Qty	Cust. Price	7-4-1
			- 1	,	Guat. Trice	Total
HERO-W	STUD MOUNT MICRON RED			4	73.15	292.60
HERO-W	WHELEN LIST \$ 133.00 EACH					
		NDICATOR LEDS/ R,B,A,W Warnin	ig LEDS	8	96.25	770.00
	(*Must use vehicle adaptor be	ezel for proper installation)				
HERO-ADAPTER2	HELLA LIST \$ 175.00 EACH	OD. 2020 INTERCERTOR LITHER	VDEAD		40.45	00.00
HERU-ADAPTER2	REVERSE BULB	FOR: 2020 INTERCEPTOR UTILIT	T REAR	8	10.45	83.60
	HELLA LIST \$ 19.00 EACH					
PSJ02FCR	·	2" SLIM-LITE LED SURFACE MOU	INT	8	99.00	792.00
	WHELEN LIST \$ 180.00 EAC			ĭ	33.00	102.00
PSBKT90	SINGLE 90 DEG MT KIT FOR			8	12.93	103.44
	WHELEN LIST \$ 23.50 EACH			Ĭ	12.55	105.77
C-VS-1012-INUT		rceptor Utility *ANGLED *Vehicle S	pecific	4	340.11	1,360.44
	20" Console	Topic Clinty 7410EED Vollido C	poomo	7	040.11	1,000.44
	HAVIS LIST \$ 508.00 EACH					
C-EB40-WS2-1P	Equipment mounting bracket	4" Fits: Whelen 295HFSA6 Whele	en	4	0.00	0.00
	295HFS4 Whelen 295HFS5/6 Whelen 295SLSA6 Whelen 295HFS9					
	Whelen MPC01 (b-link)					
	INCLUDED WITH CONSOLE					
C-EB25-MMT-1P	Equipment mounting bracket 2.5" Fits: miscellaneous Havis 4 0.00			0.00		
	PT-VIDEO-mdvr Miscellaneous eagle eye 110 mdvr Miscellaneous eagle eye 200-RHD mdvr Miscellaneous safety vision route recorder cf					
		scellaneous satety vision route rec) Motorola XTL5000 W7 Motorola				
	INCLUDED WITH CONSOLE		XII			
•	HAVIS FILLER PLATES TO E			4	0.00	0.00
	INCLUDED WITH CONSOLE			7	0.00	0.00
CUP2-1001	4" Self-Adjusting Double Cup		•	4	42.31	169.24
	Ocupies 4" of equip bracket s			7	72.01	105.24
	HAVIS LIST \$ 65.09 EACH	pado imina dopundi d				
C-ARM-103	Armrest for top mount, consol	le, large pad		4	102.88	411.52
	HAVIS LIST \$ 158.28 EACH					
MMSU-1	MAGNETIC MIC SINGLE UN	IT COMPLETE.		8	29.75	238.00
				l		
			Sales 1	Toy /7 0	00/\	\$0.00
			Sales	IAX (7.0	76)	
Phone #	Fax#	E-mail	Web Site			
954-946-9955	954-946-9677	SALES@SRUS.COM	ww	W.STRC	DBES-R-US.C	ОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30341

Bill To:
PORT ST. LUCIE POLICE DEPT
121 SW PORT ST LUCIE BLVD
BUILDING C
PORT ST LUCIE, FL 34984
·

Reference 2022 PI UTILITY TRAFFIC X 4						
Product	Description				Cust. Price	Total
	NON CONTRACT ITEM					
C-HDM-214	8.5" Heavy Duty Telescoping	Pole, side mount		4	87.84	351.36
C MD 440	HAVIS LIST \$ 135.14 EACH				000.00	007.00
C-MD-112	Tilt/swivel slide motion adapte HAVIS LIST \$ 349.07 EACH	er e e e e e e e e e e e e e e e e e e		4	226.90	907.60
DS-DELL-425	Docking Station wih Basic Po Notebooks 5430, 7330, 5420,	rt Replication for Dell Latitude Rug 5424 & 7424	ged	4	485.90	1,943.60
LPS-137	HAVIS LIST \$ 747.54 EACH 90 Watt Power Supply (with ferrite bead for in-vehicle EMI suppression) for use with DS-DELL-100,110 Series, DS-DELL-200,210,220,230 Series, DS-DELL-300 Series, DS-DELL-400 Series, and DS-GD-300 Series Docking Stations HAVIS LIST \$ 235.70 EACH			4	153.21	612.84
LPS-211	MULTPURPOSE BRACKET FOR MOUNTING POWER SUPPLY ON HAVIS DOCKING STATION/CRADLE HAVIS LIST \$ 39.16 EACH			4	25.45	101.80
P1000UINT20AOSB	2020 EXPLORER INTERCEPTOR UTILITY Single Compartment, Pro-cell, ½ Partition, w/ Passenger Side Only Outboard Seat Belts PRO-GARD LIST \$ 3063.00 EACH			4	2,297.25	9,189.00
1080E	BLAC RAC GUN LOCK 1080E BOSS LIST \$ 525.00 EACH		,	4	497.65	1,990.60
25018	BLAC-RAC VERTICAL ADJUSTABLE CHANNEL TO MOUNT 1080E BOSS LIST \$ 48.00 EACH			4	43.20	172.80
16518177		S MAIN VEHICLE WIRING HARNE FING HARNESS 16518178 AND S		4	115.82	463.28
16518178	STANDARD STROBES-R-US	S ADDON HARNESS TO WIRE PU TH MAIN HARNESS 16518177 AT 180	· ·	4	17.56	70.24
				<u> </u>		
	5		Sales Tax (7.00	0%)	\$0.00
Phone #	Fax #	E-mail		We	b Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM			OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #		
2/14/2022	30341		

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

2022 PI UTILITY TRAFFIC	C X 4				
	Description		Qty	Cust. Price	Total
SPEAKERS. USED WITH MA HARNESS 16518178	S ADDON HARNESS TO WIRE 2 AIN HARNESS 16518177 AND BU	JMPER	4	19.52	78.0
	ER HOUR		152	55.00	8,360.00
		-			
				;	
0					
1				1	
		Sales	Гах (7.0	00%)	\$0.00
Eav #	E-mail		NA/	ah Sita	
954-946-9677		WWW.STROBES-R-US.COM			
	STANDARD STROBES-R-US SPEAKERS. USED WITH MARNESS 16518178 NON CONTRACT ITEM CUSTOM INSTALLATION PE	STANDARD STROBES-R-US ADDON HARNESS TO WIRE 2 SPEAKERS. USED WITH MAIN HARNESS 16518177 AND BI HARNESS 16518178 NON CONTRACT ITEM CUSTOM INSTALLATION PER HOUR Fax # E-mail	STANDARD STROBES-R-US ADDON HARNESS TO WIRE 2 SPEAKERS. USED WITH MAIN HARNESS 16518177 AND BUMPER HARNESS 16518178 NON CONTRACT ITEM CUSTOM INSTALLATION PER HOUR Sales Fax # E-mail	STANDARD STROBES-R-US ADDON HARNESS TO WIRE 2 SPEAKERS. USED WITH MAIN HARNESS 16518177 AND BUMPER HARNESS 16518178 NON CONTRACT ITEM CUSTOM INSTALLATION PER HOUR Sales Tax (7.0) Fax # E-mail	Description Qty Cust. Price



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #		
2/14/2022	30341		

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	_

Reference	2022 PI UTILITY TRAFFIC X 4					
Product	Description Qty Cust. Price Total					
		RADIO SEPARATION CABLE, RU F THE BRICK (TO BE DETERMINI				
		ARE AND RUN WIRE HARNESSES, 16518177, 16518178,				
	****BLUE DRIVER / RED PAS	SS****				
	ACTIVATE OEM HEADLIGHT FLASHER 1 X BREAKER (183-0008) CORE SYSTEM PROGRAMMING FOR: 1 X INTERIOR PACKAGE WITH FRONT AND REAR DUO					
		WITH OVERRIDE TO WHITE SCI WITH OVERRIDE TO AMBER ARR)				
	1 X CORE SYSTEM MODULE WITH CHARGER ODB KIT (C399, C399K4) 1 X CORE CONTROL HEAD (CCTL6) 1 CV2V VEH 2 VEH SYNCH					
	1 X SPEAKER WITH SAK66F SKIRT PASS SIDE 1 X SINGLE CHOWLER (WE					
	BRACKET BEHIND BUMPER SKIRT 1 X COMMADERELITE 6-POD R/B/R/B/R/B WITH WHITE OVERRIDE MOUNT IN FRONT GRILL WITH L-BRKT'S 2 X SRUS12D-RBW MOUNT IN FOG LIG AREA, WIRE FOR					
	WARNING AND WHITE OVERRIDE 2 X VTX609C HIDEAWAY LEDS IN OEM FRONT HEADLIGHT CUT OUTS					
	1 X MCRNTR BLUE ON PAS	/ER SIDE OEM CUTOUT IN GRILL S SIDE OEM CUTOUT IN GRILL UNDER SIDE MIRROR WITH BRK				
		,	Sales Tax (7.	00%)	\$0.0	
	3		Jaies lax (7.	.00 /0]		
Phone #	Fax #	E-mail		Veb Site		
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM			



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30341

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 PI UTILITY TRAFFIC	C X 4			
Product		Description	Qty	Cust. Price	Total
	1 X SET MBFX20-RB SET M RED PASS SIDE 2 X SIDE RUNNING BOARD RED/BLUE/RED/BLUE/RED/ 1 X CONSOLE C-VS-1012-II USB OUTLET, INCLUDES 2 CUTOUTS 1 X C-PM-124 PRINTER MO IS BLUE TOOTH) 1 X DUAL CUP HOLDER (CI 1 X FACE PLATES FOR CAF APEX 6500 REMOTE HEAD CUSTOMER WILL INSTALL CONSOLE 1 X SIDE MOUNT BASE ANI 1 X SWING ARM C-MD-112 1 X DELL DOCKING STATIO DS-DELL-425 1 X POWER SUPPLY FOR E 1 X POWER SUPPLY MOUN 2 X MMSU-1 MAGNETIC MIC 1 X HALF CAGE SYSTEM W (P1000UINT20AOSB) WITH: ½ Partition, Transport Extension Panel(s), Poly Cer Window Cargo Barrier, & Out	/BLUE ONE EACH SIDE NUT, RELOACTE FACTORY 12-V ADDITIONAL 12VT OUTLETS, W DUNT (WITH USB CABLE ONLY, I UP2-1001) RBIDE CONTROL(C-EB40-CCS-1) RADIO (C-EB25-XTL-1P) RADIO LEAVE EQUIPMENT BRA D POLE C-HDM-214 ON (NO PASS THROUGH ANTENI DELL LPS-137 NTING BRACKET C (CUSTOMER WILL MOUNT) WITH SEAT AND OUTBOARD SEA Seat, Floor Pan, Pair Window Bar Inter Divider, Door Panel Cover Plat Itboard Seat Belts ON HALF CAGE (BLAC RAC 1080)	T AND //IRE IN PRINTER P) AND .CKET IN NA) ATBELTS rs, Lower tes, Poly		
INSTALL	CUSTOM INSTALLATION PE	ER HOUR	. 1	6 55.00	880.00
_			Sales Tax (7	.00%)	\$0.00
Phone #	Fax #	E-mail	1	Web Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STE	ROBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
2/14/2022	30341

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD	
BUILDING C PORT ST LUCIE, FL 34984	

Reference	2	2022 PI UTILITY TRAFFIC X 4					
Product			Description		Qty	Cust. Price	Total
	1 L 1	OCATION TBD) X MOUNT RADIO SPEAKE	JN FROM CONSOLE R IN HAVIS CONSOLE UN WIRES TO REAR HATCH (LC	·			
	Please	call in advance for an a	ppointment		Sub	total	\$48,086.44
Approved By:				Sales	Tax (7.0	00%)	\$0.00
PO #:					To	otal 🥖	\$48,086.44
Phone #		Fax #	E-mail		W	eb Site	
954-946-99	55	954-946-9677	SALES@SRUS.COM	w	ww.stro	OBES-R-US	.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30343

Bill To:	
PORT ST. LUCIE POLICE DEPT	·
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

RIDE TO WHITE SCENE. REAR IS DE TO AMBER ARROW. 2 CUSTO! D RED FOR STOP LIGHT H PACKAGE	OR 3 JE 3 1/2					
(3) 2021 FORD F150 PATROL WINTER STATE OF THE STATE OF TH	OR 3 JE 3 1/2					
IOT INCLUDE VEIHICLE PICK UP P AND DELIVERY WILL BE I LUCIE PD R 60 DAYS with manual reset, surface mount PAR. FRONT DRIVER SIDE IS BLUE RIDE TO WHITE SCENE. REAR IS DE TO AMBER ARROW. 2 CUSTON RED FOR STOP LIGHT H PACKAGE	OR 3 JE 3 1/2					
AR. FRONT DRIVER SIDE IS BLU RIDE TO WHITE SCENE. REAR IS DE TO AMBER ARROW. 2 CUSTOI D RED FOR STOP LIGHT I PACKAGE	JE 3		146.25			
RIDE TO WHITE SCENE. REAR IS DE TO AMBER ARROW. 2 CUSTO! D RED FOR STOP LIGHT H PACKAGE	1/2	2,698.00				
		D&R LIST \$ 65.00 EACH 55" WECAN X DUO LEGACY BAR. FRONT DRIVER SIDE IS BLUE 74 PASS SIDE RED WITH OVERRIDE TO WHITE SCENE. REAR IS 1/2 8 BLUE 1/2 RED WITH OVERRIDE TO AMBER ARROW. 2 CUSTOM 8 PODS IN THE REAR ARE TRIO RED FOR STOP LIGHT 8 WHELEN LIST \$ 4905.45 EACH PACKAGE				
IT WITH BOLTS (MKAJ94 FOR 20	022 3	0.00	0.00			
INCLUDED IN PACKAGE CONCOM CORE AMPLIFIER CONTROL MODULE (CAN ORDER CCTL7 TOUCHPAD AND CCTLMIC MICROPHONE FOR COMPLETE SIREN) INCLUDED IN PACKAGE			0.00			
		0.00	0.00			
50	3	0.00	0.00			
CLE SYNCH MODULE	3	0.00	0.00			
ASTIC	3	0.00	0.00			
	Sales Tax (7.	00%)	\$0.00			
E-mail	<u> </u>	leb Site				
			·OM			
	COL HEAD RSION ALSO INCLUDES CCTLI 150 CLE SYNCH MODULE ASTIC E-mail	RSION - ALSO INCLUDES CCTLMIC 150 3 CLE SYNCH MODULE 3 ASTIC 3 Sales Tax (7.6)	RSION - ALSO INCLUDES CCTLMIC 150 3 0.00 CLE SYNCH MODULE ASTIC 3 0.00 Sales Tax (7.00%) E-mail Web Site			



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30343

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	
,	

Reference	2022 F150 PATROL X 3					
Product		Description		Qty	Cust. Price	Total
SAK57	SA-315 MT KIT 2015 FORD	F-150		3	0.00	0.00
	INCLUDED IN PACKAGE					
CHWLUNI		REN AMP WITH ONE SPEAKER A	ND	3	0.00	0.00
	UNIVERSAL MOUNTING BR INCLUDED IN PACKAGE	ACKET				
5297T-6SRU	GO RHINO BRAND STROBES-R-US REVISION PUSH BUMPER FOR				412.35	412.35
	2021 F150 POLICE RESPON	NDER VERSION. INCLUDES 6 PC	D LIGHT			
		ELED SIDE BRACKETS TO HOLD				
	TYPE LIGHT HEADS. ALSO WRINKLE FINISH BLACK ST	INCLUDES PAIR OF WIRE COVE	RS.			
	GO RHINO LIST \$ 528.66 EA					
COMMANDERELITE6-3R	-	ELITE WARNING AND DIRECTION	NAL	3	374.00	1,122.00
3B	PODS THAT GO ALL WHITE	FOR SCENE 3 RED 3 BLUE POD	S (BLUE			
	RIVER RED PASS)					
SRUS12D-RB-W	SIGNAL VEICLE LIST \$ 680.		.,	6	90.65	E27.00
3RU312D-RB-W	RED/BLUE WITH WITE OVE	t light head, black base (12~24VDC RRIDE 36" CABLE	"	6	89.65	537.90
	SIGNAL VEHICLE LIST \$ 16				1	
HERO-A	HIDEAWAY LED W/AMBER	INDICATOR LEDS/ R,B,A,W Warni	ng LEDS	6	96.25	577.50
	(*Must use vehicle adaptor be	ezel for proper installation)				
LIEDO ADADTEDO	HELLA LIST \$ 175.00 EACH	TOD. E450 EDONT OFM TUDN		_	40.45	60.70
HERO-ADAPTER3	WHELEN LIST \$ 119.00 EAC	FOR: F150 FRONT OEM TURN		6	10.45	62.70
SRU-RUNNER-60-RB		,n LD IN FLASHER. ALUMINUM CHA	32122	6	346.50	2,079.00
ONO NONNEN OO NE	10 INCH SECTIONS R/B/R/E		00100	0	3-0.50	2,075.00
	SHO-ME LIST \$ 495.00 EAC	H				
HERO-W		NDICATOR LEDS/ R,B,A,W Warnir	ng LEDS	6	96.25	577.50
	(*Must use vehicle adaptor be	ezel for proper installation)				
HERO-ADAPTER2	HELLA LIST \$ 175.00 EACH	FOR: 2020 F150 REAR REVERSE	DULD	6	10.45	62.70
HERO-ADAPTER2	HELLA LIST \$ 19.00 EACH	OR: 2020 F 150 REAR REVERSE	DULD	0	10.45	62.70
TLI2E	ION T-SERIES LINEAR DUC	n R/W		3	90.75	272.25
	WHELEN LIST \$ 165.00 EAC	_, -,			33.73	2.1.10
			Ι '		'	
		· · · · · · · · · · · · · · · · · · ·	Sales	Tax (7.0)0%)	\$0.00
Phone #	Fax #	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	V	/ww.stro	OBES-R-US.	СОМ
	_L					



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30343

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 F150 PATROL X 3				
Product		Description	Qty	Cust. Price	Total
TLI2D	ION T-SERIES LINEAR DUC		3	90.75	272.25
	WHELEN LIST \$ 165.00 EAC				
C-VSW-3000-F150-2		HICLE SPECIFIC CONSOLE	3	678.53	2,035.59
C-EB40-CCS-1P	HAVIS LIST \$ 1043.89 EACH HAVIS FACE PLATE FOR W		3	0.00	0.00
0-2040-000-11	INCLUDED WITH CONSOLE		3	0.00	0.00
C-EB25-XTL-1P	1	- OR RO (TWO WAY RADIO) MODEI	LS 3	0.00	0.00
	APX-6500				
	INCLUDED WITH CONSOLE	_			
•	•	LATES TO ENCLOSE CONSOLE	3	0.00	0.00
C-W-LP1-USB	INCLUDED WITH CONSOLE		oles 3	74.46	24.4.20
C-44-LP 1-03B	HAVIS LIST \$ 109.94 EACH	e USB Bracket for Wide VSW Cons	oles 3	71.46	214.38
C-APW-0744		eep for 3.3"W Section of Wide Consc	oles 3	13.27	39.81
	INCLUDED WITH CONSOLE	•			
•	HAVIS 3.3 INCH FILLER PLA	ATES TO ENCLOSE CONSOLE	3	0.00	0.00
	INCLUDED WITH CONSOLE	_			
C-PM-122		inter mount, Mounts in standard Hav		208.25	624.75
	AND DURANGO	MODELS ONLY** OK FOR 2021 CH	HARGER		
	HAVIS LIST \$ 330.01 EACH				
CUP2-1001	4" Self-Adjusting Double Cup	Holder.	3	42.31	126.93
	Ocupies 4" of equip bracket s	space with a depth of 3"			
0.4514.400	HAVIS LIST \$ 65.09 EACH		a .		400.00
C-ARM-102	Side mount armrest HAVIS LIST \$ 82.09 EACH		3	53.36	160.08
MMSU-1	MAGNETIC MIC SINGLE UN	JIT COMPLETE	6	29.75	178.50
	NON CONTRACT ITEM	TOOM LETE.	"	29.73	170.50
C-HDM-214	8.5" Heavy Duty Telescoping	Pole, side mount	3	87.84	263.52
	HAVIS LIST \$ 135.14 EACH	•			
C-MD-112	Titt/swivel slide motion adapte	er	3	226.90	680.70
		I			
			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail	W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STR	OBES-R-US.	COM
					- * ***



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30343

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	
FOR 31 LUCIE, FL 34904	

Reference	2022 F150 PATROL X 3					
Product	Description			Qty	Cust. Price	Total
DS-DELL-425	HAVIS LIST \$ 349.07 EACH Docking Station wih Basic Port Replication for Dell Latitude Rugged Notebooks 5430, 7330, 5420, 5424 & 7424 HAVIS LIST \$ 747.54			3	485.90	1,457.70
LPS-137	90 Watt Power Supply (with ferrite bead for in-vehicle EMI suppression) for use with DS-DELL-100,110 Series, DS-DELL-200,210,220,230 Series, DS-DELL-300 Series, DS-DELL-400 Series, and DS-GD-300 Series Docking Stations WHELEN LIST \$ 235.70 EACH			3	153.21	459.63
LPS-211	•	FOR MOUNTING POWER SUPPL	YON	3	25.45	76.35
P1000FT16A	SINGLE COMPARTEMENT I ALUMINUM BODY 4 DOOR	SINGLE COMPARTEMENT PRO CELL1/2 PARTITION FOR 2016-2020 ALUMINUM BODY 4 DOOR TRUCK. USES STANDARD OEM BACK SEAT. INCLUDES WINDOW BAR AND CAGE.			1,315.50	3,946.50
1080E	BLAC RAC GUN LOCK 1080E BOSS LIST \$ 525.95 EACH			3	497.65	1,492.95
25018	BLAC-RAC VERTICAL ADJUSTABLE CHANNEL TO MOUNT 1080E BOSS LIST \$ 48.00 EACH			3	43.20	129.60
16518177	STANDARD STROBES-R-US MAIN VEHICLE WIRING HARNESS USED WITH BUMPER LIGHTING HARNESS 16518178 AND SPEAKER HARNESS 16518180			3	115.82	347.46
16518178	NON CONTRACT ITEM STANDARD STROBES-R-US ADDON HARNESS TO WIRE PUSH BUMPER LIGHTS. USED WITH MAIN HARNESS 16518177 AND SPEAKER HARNESS 16518180			3	17.56	52.68
16518180		S ADDON HARNESS TO WIRE 2 AIN HARNESS 16518177 AND BU	MPER	3	19.52	58.56
INSTALL	CUSTOM INSTALLATION PE	ER HOUR		120	55.00	6,600.00
			Sales	Tax (7.0	0%)	\$0.00
Phone #	Fax #	E-mail		\A/.	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	10/		OBES-R-US.C	·OM
	354-340-3077	SALLS@SRUS.CUM		77 1 C. 44 44	JULG-IN-UG.U	· · · · · · · · · · · · · · · · · · ·



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30343

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 F150 PATROL X 3					
Product	Description Qty Cust. Price					
	*ACTIVATE OEM HEADLIGH *********BLUE DRIVER RED PA: 1 X BREAKER (183-0008) CORE SYSTEM PROGRAMM 1 X 55" CUSTOM DUO LEGA FRONT IS 1/2 BLUE 1/2 RED REAR IS 1/2 BLUE 1/2 RED CUSTOM PODS IN THE REA STRAP KIT (GB2-STT-RB, S' 1 X CORE SYSTEM MODUL: C399K7) 1 X CORE CONTROL HEAD 1 X CV2V VEH TO VEH SYN 1 X SPEAKER WITH SAK57 SKIRT PASS SIDE 1 X SINGLE CHOWLER (WE UNIVERSAL BRACKET BEH 1 X GO-RHINO PUSH BUMP 5297T-6SRU) 1 X COMMADERELITE 6-PO IN UPPER LIGHT CHANEL O 2 X SRUS12D-RBW MOUNT WARNING AND WHITE OVE 2 X HERO-A IN FRONT OEM RED/BLUE 2 X HERO-W IN OEM REAR 2 X SIDE RUNNING BOARD RED/BLUE/BLUE/RED/BLUE/BLUE/BLUE/BLUE/BLUE/BLUE/BLUE/BLUE	MING FOR: ACY BAR (BLUE DRIVER / RED FOR WITH OVERRIDE TO WHITE SOWN ARE TRIO RED FOR STOP LICE WITH CHARGER ODB KIT (C39) (CCTL6) CH BRACKET, MOUNT BEHIND BUNDED BUMPER SKIRT ER W/ 6-POD LIGHT CHANNEL(D R/B/R/B/R/B WITH WHITE OVE ON SIDE OF PUSH BUMPER WIRD RRIDE I TRUN WITH ADAPTER-3, WARN REVERSE, WARING TO BE RED LIGHTS,	PASS) CENE. ROW. 2 GHT AND 99, MPER N WITH ERRIDE D PASS) IRE FOR NING TO MBLUE			
			Sales Tax (7	00%)	\$0.00	
Phone #	Fax#	E-mail	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	Veb Site		
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW STE	ROBES-R-US.C	OM	



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30343

Вііі То:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 F150 PATROL X 3					
Product			Qty	Cust. Price	Total	
	PASS) WIRE FOR WARNING AND WHITE OVERRIDE 1 X CONSOLE C-VSW-3000-F150-2 1 X C-PM-122 PRINTER MOUNT (WITH USB CABLE ONLY, PRINTER IS BLUE TOOTH) 1 X DUAL CUP HOLDER (CUP2-1001) 1 X FACE PLATES FOR CARBIDE CONTROL (C-EB40-CCS-1P) AND APEX 6500 REMOTE HEAD RADIO (C-EB25-XTL-1P) CUSTOMER WILL INSTALL RADIO LEAVE EQUIPMENT BRACKET IN CONSOLE 1 X C-W-LP1-USB 12VT AND DUAL USB OUTLET ON 3.3" SIDE O CONSOLE 1 X C-APW-0744 ACCCESSORY POCKET FOR 3.3" SIDE OF CONSOLE 1 X SIDE MOUNT BASE AND POLE C-HDM-214 1 X SWING ARM C-MD-112 1 X DELL DOCKING STATION (NO PASS THROUGH ANTENNA) DS-DELL-425 1 X POWER SUPPLY FOR DELL LPS-137 1 X POWER SUPPLY MOUNTING BRACKET 2 X MMSU-1 MAGNETIC MIC (CUSTOMER WILLMOUNT) 1 X HALF CAGE SYSTEM WITH SEAT AND OUTBOARD SEATBELTS (P1000FT16A) Includes: ½ Partition, Pair Door Panels, Pair Steel Window Bars, Lower Extension Panel, Poly Center Divider, & Poly Rear Window Guard					
INSTALL	TRAC MOUNT, SEE PICS) CUSTOM INSTALLATION PE	ON HALF CAGE (BLAC RAC 1080 ER HOUR		12	55.00	660.00
			Sales	Tax (7.0	0%)	\$0.00
Phone #	Fax #	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	w	ww.stro	DBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #	
12/17/2021	30343	

BIII To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	20	2022 F150 PATROL X 3					
Product			Description		Qty	Cust. Price	Total
	C 1 L(1	OCATION TBD) X MOUNT RADIO SPEAKE	JN FROM CONSOLE R IN HAVIS CONSOLE UN WIRES TO REAR HATCH (LC				
F	Please	call in advance for an a	ppointment		Sub	total	\$33,822.09
Approved By: _				Sales	Tax (7.0	00%)	\$0.00
PO #: _	Total -		\$33,822.09				
Phone #		Fax #	E-mail	Web Site			
954-946-995	55	954-946-9677	SALES@SRUS.COM	W	WW.STR	DBES-R-US	СОМ



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30344

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	

Reference	2022 EXPLORER ADMIN	X 11				
Product	Description				Cust. Price	Total
	**PRICE QUOTE PER BSO (CONTRACT # 18006AG				
		R (11) 2022 FORD EXPLORERS				
	CIVILLIAN) ADMIN (NO LAF	PTÓP, NO CONSOLE, NO PRINTI	ER, NO			
	CAGE, NO RADIO, NO GUN		_			
		ES NOT INCLUDE VEIHICLE PICE	K UP OR			
		UP AND DELIVERY WILL BE				
	RESPONSIBILITY OF PORT **PRICE QUOTE IS GOOD F					
	**	OR 60 DATS				
183-0008	Circuit breaker, 50 amp therm	nal with manual reset, surface mou	nt	11	48.75	536.25
	D&R LIST \$ 65.00 EACH				10.10	000.20
IX50UFZ-RB		0 EXPLORER FULL UPPER FRO	NT WITH	11	607.75	6,685.25
	TAKEDOWN EMERGENCY	LIGHTS FLASH BLUE DRIVER R	ED PASS			
	(SEE CONFIG SHEET)				İ	
	WHELEN ST \$ 1105.00 EAC					
HHS4200		N SYSTEM. SAME AS HHS3200,		11	384.45	4,228.95
		orts the Inner Edge FST, XLP and				
	with the CANEM16 Expansion	d a WeCan External Amplifier (Not	for Use			
	WHELEN LIST \$ 731.00 EAC					
SA315P	SA315P SPEAKER, BLACK I			11	145.75	1,603.25
	WHELEN LIST \$ 265.00 EAC			• • • • • • • • • • • • • • • • • • • •	143.73	1,000.20
SAK66D		NTERCEPTOR UTILITY DRIVER	SIDE	11	0.00	0.00
	GRILLE					2.22
	INCLUDED WITH SA315P					
TLIB	ION T-SERIES LINEAR LT BI	LUE		11	78.10	859.10
	WHELEN LIST \$ 142.00 EAC	H			***************************************	
TLIR	ION T-SERIES LINEAR LT R	ED		11	78.10	859.10
	WHELEN LIST \$ 142.00 EAC	H				
SRUS-4X-T	"T" STYLE BRACKET FOR S	INGLE 4X,6X,TIR3,TLION, & MS6	3	22	8.95	196.90
	NON CONTRACT ITEM					
PSJ02FCR	DUO Red/Blue, Clear Lens 13	2" SLIM-LITE LED SURFACE MOI	UNT	22	99.00	2,178.00
	1		'	'	·	
			Sales	Tax (7.0	00%)	\$0.00
	· · · · · · · · · · · · · · · · · · ·					
Phone #	Fax #	E-mail		W	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM			OM
a04-a40-aa0 0	304-340-3011	SALESWSKUS.COM	VVVVV.3 ROBES-R-US.COM			



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30344

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD	
BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 EXPLORER ADMIN	X 11				
Product	Description Qty Cust. Price Total					
PSBKT90	WHELEN LIST \$ 180.00 EAC SINGLE 90 DEG MT KIT FOI WHELEN LIST \$ 25.00 EAC	22	13.75	302.50		
ULB9LDC-RBWW	•	D LIGHT (RED/BLU/WHT/WHT)	22	131.45	2,891.90	
HERO-W	HIDEAWAY LED W/WHITE II	HIDEAWAY LED W/WHITE INDICATOR LEDS/ R,B,A,W Warning LEDS (*Must use vehicle adaptor bezel for proper installation)				
HERO-ADAPTER2	HIDEAWAY LED ADAPTER I	FOR: 2020 INTERCEPTOR UTILIT EAR S/T/T (RED LENS AREA),20		10.45	229.90	
INSTALL	CUSTOM INSTALLATION PERINSTALL: 1 X BREAKER FOR LIGHT ARE ALL AND HELD SEED AND HELD SEED AND HELD SEED AND HELD SEED AND HELD SEED AND ARE ALL AND AND AND AND AND AND AND AND AND AND	CUSTOM INSTALLATION PER HOUR INSTALL: 1 X BREAKER FOR LIGHT AND SIREN 1 X HHS4200 HAND HELD SIREN SYSTEM 1 X SA315P SPEAKER WITH SAK BRACKET 1 X TLIB DRIVER SIDE GRILL WITH T-BRKT 1 X TLIR PASS SIDE GRILL WITH T-BRKT 2 X PSJ02FCR IN SIDE CARGO WINDOS, ONE EACH SIDE WITH				
TINT SUV	RED/BLUE TINT PREMIUM 3M BRAND		11	145.00	1,595.00	
TINT STRIP	TINT TO BE 15% ALL AROUND TINT FRONT WINDOW STRIP WHEN ADDED TO SCHEDULED TINT INSTALLATION TINT TO BE 28% 15.00 168					
Ple	ase call in advance for an a	appointment	Sub	itotal	\$34,733.60	
Approved By:		*	Sales Tax (7.	00%)	\$0.00	
PO #:			Total \$34,			
Phone #	Fax#	E-mail	Web Site			
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM			



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30345

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C PORT ST LUCIE, FL 34984	

Reference	2022 F150 ADMIN X 1	<i>¥</i>			
Product		Description	Qty	Cust. Price	Total
	**PRICE QUOTE PER BSO (CONTRACT # 18006AG			
		R (1) 2022 FORD F150 ADMIN (
		PRINTER, NO CAGE, NO RADIO	D, NO		
	GUN LOCK)	50 NOT INDI LIDE VENUALE DIO			
		ES NOT INCLUDE VEIHICLE PICI UP AND DELIVERY WILL BE	KUPOR		
	RESPONSIBILITY OF PORT				
	**PRICE QUOTE IS GOOD FOR 60 DAYS				
	**				
183-0008	Circuit breaker, 50 amp therm	nal with manual reset, surface mou	nt .	48.75	48.75
	D&R LIST \$ 65.00 EACH	,			
IX47UFZ-RB		50 F250 F350 FULL FRONT UPPI	ER .	607.75	607.75
		TD WARNING LIGHTS FLASH DI			
	RED PASS BLUE				
	WHELEN LIST \$ 1105.00 EA				
HHS4200		N SYSTEM. SAME AS HHS3200,		384.45	384.45
		orts the Inner Edge FST, XLP and			
		d a WeCan External Amplifier (Not	tor Use		
	with the CANEM16 Expansion WHELEN LIST \$ 731.00 EAC				
SA315P	SA315P SPEAKER, BLACK			145.75	145.75
J. 10.10.	WHELEN LIST \$ 265.00 EAC			140.70	140.70
SAK57	SA-315 MT KIT 2020 FORD I		/	0.00	0.00
	INCLUDED WITH SA315P				0.00
TLIB	ION T-SERIES LINEAR LT B	LUE] .	78.10	78.10
	WHELEN LIST \$ 142.00 EAC				
TLIR	ION T-SERIES LINEAR LT R			78.10	78.10
	WHELEN LIST \$ 142.00 EAC	H			
SRUS-4X-T	"T" STYLE BRACKET FOR S	INGLE 4X,6X,TIR3,TLION, & MS6	s 2	8.95	17.90
	NON CONTRACT ITEM		HE.		
ULB9LDC-RBWW	STAR 9" MINI PHANTOM LE	D LIGHT (RED/BLU/WHT/WHT)		131.45	262.90
	SIGNAL VEHICLE LIST \$ 239	9.00 EACH			
	1		1	1	
			Sales Tax (7.	00%)	\$0.00
					
Phone #	Fax #	E-mail	· · · · · · · · · · · · · · · · · · ·	Veb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM		ROBES-R-US.C	OM
	334-340-3077	OALLOWSKOS.COM	77777.317		



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30345

Bill To:	
PORT ST. LUCIE POLICE DEPT	
121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	
·	

Reference 2022 F150 ADMIN X 1				
Product	Description	Qty	Cust. Price	Total
HERO-A	HIDEAWAY LED W/AMBER INDICATOR LEDS/ R,B,A,W Warning LEDS (*Must use vehicle adaptor bezel for proper installation) HELLA LIST \$ 175.00 EACH	2	96.25	192.50
HERO-ADAPTER3	HIDEAWAY LED ADAPTER FOR: 2019 FORD EXPLORER FRONT TURN SIGNAL, REVERSE, AND REAR TURN SIGNAL HELLA LIST \$ 119.00 EACH	10.45	20.90	
HERO-W	HIDEAWAY LED W/WHITE INDICATOR LEDS/ R,B,A,W Warning LEDS (*Must use vehicle adaptor bezel for proper installation) HELLA LIST \$ 175.00 EACH	2	96.25	192.50
HERO-ADAPTER2	HIDEAWAY LED ADAPTER FOR: 2020 INTERCEPTOR UTILITY REAR TURN ONLY,2019 TAHOE REAR S/T/T (RED LENS AREA),2019 F-150 3 CHAMBER REVERSE BULB ONLY HELLA LIST \$ 19.00 EACH	10.45	20.90	
INSTALL	CUSTOM INSTALLATION PER HOUR INSTALL: 1 X BREAKER FOR LIGHT AND SIREN 1 X HHS4200 HAND HELD SIREN SYSTEM 1 X INNEREDGE XLP FRONT UPPER WINDSHIELD (BLUE DRIVER RED PASS) 1 X SA315P SPEAKER WITH SAK BRACKET 1 X TLIB DRIVER SIDE GRILL WITH T-BRKT 1 X TLIR PASS SIDE GRILL WITH T-BRKT 2 X HERO-A IN FRONT OEM TURN WITH ADAPTER3, WARNING TO BE RED/BLUE 2 X ULB9LDC-RBWW IN UPPPER REAR WINDOW, REAR FACING, ATTACH TO WINDOW NOT THE HEADLINER 2 X HERO-W IN REAR OEM TURN WITH ADAPTER2, WARING TO BE RED/BLUE	17	55.00	935.00
Ple	ase call in advance for an appointment	Sub	total	\$2,985.50

	Please	call in advance for an a	appointment	Subtotal \$2	
Approved By:				Sales Tax (7.00%)	
PO #:				Total	\$2,985.50
Phone #	Phone # Fax # E		E-mail	Web Site	
954-946-9955 954-946-9677		SALES@SRUS.COM	WWW.STROBES-R-U	S.COM	



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30346

Bill To:
PORT ST. LUCIE POLICE DEPT
121 SW PORT ST LUCIE BLVD
BUILDING C
PORT ST LUCIE, FL 34984

Product	
THIS PRICE QUOTE IS FOR (1) 2022 TOYOTA HIGHLANDER ADMIN (NO LAPTOP, NO CONSOLE, NO PRINTER, NO CAGE, NO RADIO, NO GUN LOCK) **THIS PRICE QUOTE DOES NOT INCLUDE VEIHICLE PICK UP OR DELIVERY CHARGES, PICK UP AND DELIVERY WILL BE RESPONSIBILITY OF PORT ST LUCIE PD **PRICE QUOTE IS GOOD FOR 60 DAYS *** 183-0008 Circuit breaker, 50 amp thermal with manual reset, surface mount D&R LIST \$ 65.00 EACH HHS4200 WHELEN HAND-HELD SIREN SYSTEM. SAME AS HHS3200, BUT WITH WeCan Port that Supports the Inner Edge FST, XLP and RST Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use with the CANEM16 Expansion Module) WHELEN LIST \$ 731.00 EACH SA315P SPEAKER, BLACK PLASTIC 1 145.75 WHELEN LIST \$ 265.00 EACH SA-315 MOUNT KIT UNIVERSAL "L" BRACKET 1 0.00 INCLUDED WITH SA315P ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH TLIB 10N T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH TLIR 10N T-SERIES LINEAR LT RED 1 78.10 WHELEN LIST \$ 142.00 EACH TILIR 10N T-SERIES LINEAR LT RED WHELEN LIST \$ 142.00 EACH T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM PSJ02FCR DUG Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	Total
ADMIN (NO LAPTOP, NO CONSÓLE, NO PRINTER, NO CAGE, NO RADIO, NO GUN LOCK)	
RADIO, NO GUN LOCK	
****THIS PRICE QUOTE DOES NOT INCLUDE VEIHICLE PICK UP OR DELIVERY CHARGES, PICK UP AND DELIVERY WILL BE RESPONSIBILITY OF PORT ST LUCIE PD	
DELIVERY CHARGES, PICK UP AND DELIVERY WILL BE RESPONSIBILITY OF PORT ST LUCIE PD	
RESPONSIBILITY OF PORT ST LUCIE PD	
PRICE QUOTE IS GOOD FOR 60 DAYS * 183-0008 Circuit breaker, 50 amp thermal with manual reset, surface mount D&R LIST \$ 65.00 EACH WHELEN HAND-HELD SIREN SYSTEM. SAME AS HHS3200, BUT WITH WeCan Port that Supports the Inner Edge FST, XLP and RST Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use with the CANEM16 Expansion Module) WHELEN LIST \$ 731.00 EACH SA315P SA315P SPEAKER, BLACK PLASTIC WHELEN LIST \$ 265.00 EACH SA-315 MOUNT KIT UNIVERSAL "L" BRACKET INCLUDED WITH SA315P ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) SIGNAL VEHICLE LIST \$ 239.00 EACH TLIB ION T-SERIES LINEAR LT BLUE WHELEN LIST \$ 142.00 EACH TLIR ION T-SERIES LINEAR LT RED WHELEN LIST \$ 142.00 EACH SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 NON CONTRACT ITEM PSJ02FCR SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
1	
D&R LIST \$ 65.00 EACH	
D&R LIST \$ 65.00 EACH	48.75
HHS4200 WHELEN HAND-HELD SIREN SYSTEM. SAME AS HHS3200, BUT WITH WeCan Port that Supports the Inner Edge FST, XLP and RST Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use with the CANEM16 Expansion Module) WHELEN LIST \$ 731.00 EACH 1 145.75 WHELEN LIST \$ 265.00 EACH 1 0.00 INCLUDED WITH SA315P SA315P SPEAKER, BLACK PLASTIC	10.70
WITH WeCan Port that Supports the Inner Edge FST, XLP and RST Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use with the CANEM16 Expansion Module) WHELEN LIST \$ 731.00 EACH SA315P SA315P SPEAKER, BLACK PLASTIC 1 145.75 WHELEN LIST \$ 265.00 EACH SA-315 MOUNT KIT UNIVERSAL "L" BRACKET 1 0.00 INCLUDED WITH SA315P ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH T.IB ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH T.IR ION T-SERIES LINEAR LT RED 1 78.10 WHELEN LIST \$ 142.00 EACH SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	384.45
Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use with the CANEM16 Expansion Module) WHELEN LIST \$ 731.00 EACH	004.40
With the CANEM16 Expansion Module) WHELEN LIST \$ 731.00 EACH SA315P SA315P SPEAKER, BLACK PLASTIC 1 145.75 WHELEN LIST \$ 265.00 EACH SAK1 SA-315 MOUNT KIT UNIVERSAL "L" BRACKET 1 0.00 INCLUDED WITH SA315P 1 131.45 ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH 1 78.10 TLIB ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH 2 13.75 PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
SA315P SA315P SPEAKER, BLACK PLASTIC 1 145.75 WHELEN LIST \$ 265.00 EACH 0.00 1 0.00 SAK1 SA-315 MOUNT KIT UNIVERSAL "L" BRACKET INCLUDED WITH SA315P 1 0.00 ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH 1 78.10 TLIB ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
SAK1 WHELEN LIST \$ 265.00 EACH SA-315 MOUNT KIT UNIVERSAL "L" BRACKET 1 INCLUDED WITH SA315P 1 ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 SIGNAL VEHICLE LIST \$ 239.00 EACH 1 TLIB ION T-SERIES LINEAR LT BLUE 1 WHELEN LIST \$ 142.00 EACH 1 TLIR ION T-SERIES LINEAR LT RED 1 WHELEN LIST \$ 142.00 EACH 1 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 NON CONTRACT ITEM 2 PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 WHELEN LIST \$ 147.00 EACH 2 PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2	
SAK1 SA-315 MOUNT KIT UNIVERSAL "L" BRACKET 1 0.00 INCLUDED WITH SA315P 1 0.00 ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH 1 78.10 TLIB ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	145.75
INCLUDED WITH SA315P STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH ION T-SERIES LINEAR LT RED 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 WHELEN LIST \$ 142.00 EACH SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
ULB9LDC-RBWW STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) 4 131.45 SIGNAL VEHICLE LIST \$ 239.00 EACH 1 78.10 TLIB ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	0.00
SIGNAL VEHICLE LIST \$ 239.00 EACH	
TLIB ION T-SERIES LINEAR LT BLUE 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 TLIR ION T-SERIES LINEAR LT RED 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM 2 99.00 PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH 2 13.75	525.80
WHELEN LIST \$ 142.00 EACH	
TLIR ION T-SERIES LINEAR LT RED 1 78.10 WHELEN LIST \$ 142.00 EACH 1 78.10 SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH WHELEN LIST \$ 147.00 EACH 2 13.75	78.10
WHELEN LIST \$ 142.00 EACH SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 NON CONTRACT ITEM PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
SRUS-4X-T "T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6 2 8.95 NON CONTRACT ITEM PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	78.10
PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
PSJ02FCR DUO Red/Blue, Clear Lens 12" SLIM-LITE LED SURFACE MOUNT 2 99.00 WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	17.90
WHELEN LIST \$ 147.00 EACH PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	
PSBKT90 SINGLE 90 DEG MT KIT FOR STRIP LT LIGHTHEAD 2 13.75	198.00
WHELEN LIST \$ 25.00 EACH	27.50
Sales Tax (7.00%)	\$0.00
Phone # Fax # E-mail Web Site	
954-946-9955 954-946-9677 SALES@SRUS.COM WWW.STROBES-R-US.COI	<u></u> М



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/17/2021	30346

Bill To:	
PORT ST. LUCIE POLICE DEPT 121 SW PORT ST LUCIE BLVD BUILDING C	
PORT ST LUCIE, FL 34984	

Reference	2022 HIGHLANDER ADMIN X 1					
Product			Description	Qty	Cust. Price	Total
INSTALL	1 X HHS4 1 X SA31! 2 X ULB9! SIDES OF HEADLIN! 1 X TLIB * 1 X TLIR * 2 X PSJ02 SIDE WIT 2 X ULB9!	INSTALL: 1 X BREAKER FOR LIGHT AND SIREN 1 X HHS4200 HAND HELD SIREN SYSTEM 1 X SA315P SPEAKER WITH SAK1 BRACKET 2 X ULB9LDC-RBWW IN FRONT UPPER WINDSHIELD ONE ON BOTH SIDES OF REAR VIEW MIRROR (MOUNT TO GALSS NOT HEADLINER) 1 X TLIB ***SMOKED***DRIVER SIDE GRILL WITH T-BRKT 1 X TLIR ***SMOKED***PASS SIDE GRILL WITH T-BRKT 2 X PSJ02FCR ***SMOKED****REAR CARGO WINDOWS, ONE EACH SIDE WITH PSBKT90 2 X ULB9LDC-RBWW UPPER REAR HACH AREA, REAR FACING (MOUNT TO GALSS NOT HEADLINER)		E EACH	55.00	880.00
Please call in advance for an appointment		Sub	total	\$2,384.35		
Approved By:	Ву:		Sales Tax (7.00%)		\$0.00	
PO #:				Total \$2,384.3		\$2,384.35
Phone #		Fax #	E-mail	Web Site		
954-946-99	55 99	54-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM		